g[:zp Laan "E‘g‘g g ES\ sraricStupio GAMIN |

tested

T




AL PROFILE
SYSTEMS

GLASS
ADAPTERS

3 SPIGOTS

4 JUuLET BALCONY




B caprais

LED
HANDRAILS

6

104 - 111

7 GLASS CONNECTORS

HANDRAIL HOLDERS
FOR GLASS

112 - 119

8 ACCESSORIES

120 - 140



1 AL PROFILE
SYSTEMS

Black ELOX

makov (| STATIC STUDIO

TTTTTTT

i RISE o=



U PROFILES AL/0004

TOP MOUNT AL/0004-ECO

FIX AL/0008

FLEX AL/0004-LIGHT
AL/0004-UnoXL

FIX. FLEX AL/0004-PRO

’ AL/0008-ProXL

AL/0019

L PROFILES AL/0006

TOP MOUNT AL/0006-ECO

FIX

FIX, FLEX AL/0006-UNO
AL/0018

U PROFILES AL/0005-D

SIDE MOUNT AL/0009

FIX

FLEX AL/0005-UNO

Y PROFILES AL/0011

SIDE MOUNT

FIX

FLEX AL/0O011-LIGHT

FIX, FLEX AL/0011-ProXL
AL/ZALVR...004

GLASS AL/ZALVR...006

SETS AL/ZALBR...005

AL/ZALBR...0O11



—h

5
3
g :
¢__':.I

U PROFILES | TOP MOUNT

© o N W oW N O oo r
AL/0004-1250-5-E 1250 ' ' ' ' [
AL/0004-2500-5-E 2500
AL/0004-5000-S-E 5000
AL/0004-6000-S-E 0
A 25N ® e o e @ g7 = = g o B .
£Lox AL/0004-2500-S-VA-EXCL.. 2500
9% AL/0004-5000-S-VA-EXCL.. 5000
?;,36 AL/0004-6000-R7016 5000
S8 AL/0004-6000-R9005
AL/0004-ECO-2500-S-E 2500
AL/O004-ECO-5000-5E 5000 )
AL/0004-ECO-6000-S-E
natural AL/0004-ECO-6000-N
T - 6000 kN @ @ © @ ® @ is = S g W =
I 7 AL/0004-ECO-6000-R7016
S8 AL/0004-ECO-6000-R9005
cLox AL/OD04ECO-2500-SEE 2500
black a) /0004-ECO-5000-S-EB 5000
AL/000A4-LIGHT-2500-S-E 2500
AL/O004-LIGHT-5000-5E 5000 l:- EEw 41 = miE - = e v
AL/O004-LIGHT-6000-5-E 6000
AL/0004-UnoXL-2500-S-E 2500
AL/0004-UnoXL-5000-S-E 5000 1kN ammwm sigr = ROEEE - N v
AL/0004-UnoXL-6000-S-E 6000
AL/0004-PRO-2500-S-E 2500
AL/0004-PRO-5000-5 5000 itr,)l'lilli. 62 m - - - ® - _
ELOX AL/O004-PRO-6000-SE 6000
AL/0008-2500-5-E 2500
AL/0008-5000-5-E s000 N . . 887 = BolE * = B
AL/O008-ProXL-2500-S-E 2500
AL/O008-ProXL-5000-S-E 5000 3kN EEEE®® ©589 - - m - e v
AL/O008-ProXL-5000-S-E 6000
AL/0019-2500-5-E 2500
AL/0019-5000-5-E 5000 3kN EEEEO®® © 10 - - g - - @ ¥
AL/0019-6000-S-E 6000
* 3kN - info according to the test protocol 03/23
- = " = & N N ™ FLEX FLEX1 FLEX2 FIX FIX1 FIX2 %é;
AL/0006-1250-5-E 1250
Lo AL/0006-25005 2500
AL/0006-5000-5-E 5000
e INOO® eoeoe 7 = = g i lE .
FAL AL/0006-6000-R7016 6000
AL AL/0006-6000-R9005
AL/0006-ECO-2500-SE 2500
ELOX AL/0006-ECO-5000-S-E 5000
AL/00O6-ECO-6000-SE 6000
Efﬁ((moooeaco-zsoo-sen_zsoo kN @ ® o o e e 5o = = e - =
AL/0006-ECO-5000-S-EB 5000
L=l ELOX AL/OOO0E-ECO-6000-N
PA. AL/0006-ECO-6000-R7016 6000
AL AL/0006-ECO-6000-R9005
~ AL/OOOE-UNGC-2500-S-E 2500
AL/OOOG-UNO-5000SE 5000 1kN m m m m = & - alf - B -
CLoy, AL/OOOBUNO-6000SE 6000 | | 1]
AL/0018-2500-5-E 2500
AL/0018-5000-5-E 5000 3KN EmEmEmoee® @122 - - @m - - ® ¥
AL/0018-6000-5-E © 6000

118

S S ¥

g

|

iR

it ¢



| SIDE MOUNT

© © o © © N © e 73
Material Finish Effect art. L G/'h ﬁ :‘: 5}- :;- 0 ;E :1 ::- o 2— m T r
RR e JE IR Er B - FLEX FLEX1 FLEX2 FIX FiX1 FIX2 SRy
AL/0005-UNO-2500-5-E 2500
AL/O005-UNO-5000-5E 5000 1kN w m m m m . men . v
AL/0005-UNO-6000-5-E 6000
ELOX AL/0005-D-1250-S-E 1250
AL/0005-D-2500-S-E 2500
AL/0005-D-5000-5-E 5000
- - 25kN® @ [ BN BN BN | 83 - - - @ - - E
AL/0005-D-6000-5-E 6000
ELOX AL/0005-D-2500-S-EB 2500.
AL/0005-D-5000-S-EB 5000
AL/0009-2500-5-E 2500
ELOX 3kN e o e = =N g |- B -
AL/0009-5000-5-E 5000
© © © N © N o« 7
Material Finish Effect art. L G/h ﬁ :;- ﬁ. :;. S_ "o'l :2. ';‘:.: :. "‘:._ :7‘..: cg/m "’T‘b‘ T
buji B R i Ee B S - FLEX FLEX1 FLEX2 FIX FIX1 Fix2 ‘i‘:l“:”f“;
AL/0011-1250-N-E 1250
AL/0011-2500-N-E 2500
ELOX
AL/0011-5000-N-E 5000
: 3kN ® @ [ BN BN BN | (| - - = B - -
AL/0011-6000-N-E 6000
ELOX AL/0011-2500-N-EB 2500
AL/0011-5000-N-EB 5000
AL/0O11-LIGHT-2500-N-E 2500 new
AL/OO11-LIGHT-5000NE 5000 $° w m m m m a9 - Im i e v | pmew
AL/OO11-LIGHT-6000-N-E 6000 new
ELOX
AL/0011-ProXL-2500-N-E 2500
AL/0011-ProXL-5000-N-E 5000 2kN | BN BN BN BN BN | ® 85 - - ] - - & v
. G
AL/0011-ProXL-6000-N-E 6000 Mew
ICONBIGHEAIOREN RAILING
0 umakowv’ finse > Falting > e — > View > Shopping Cart = %
e X "
CHOOSE HEIGHT

i _ il
CHOOSE WIDTH OF GLASS

el _ pini

CHOOSE HANDLE
B -

CHOOBE HANDLE MATEFIAL

- -

CHOOSE PROFILE MATERIAL

- -~

CONTINUE




b e i oy SRkl G A

-.\'E bl G S PR
| At -..r,f;.‘_rf,--..--

M T ot



A19/5042-...

A14/0772-...

A14/0773-...

A19/0004-...

AL/..-Drain Al /0004... A19/0004-D...
AL/000S...

A/0156-.. .
A/42,4x2-.. | A

A14/2500-900

\ A19/0004-...

\ AL/0044-...
\ AL/000S5... A19/0004-D...
AL/..-OUT  AL/0009...

A/B9...
Al14/69...
AL/69...

VSG/ESG
GS/...

AL/0004...
AL/O0OS8...

AL/...-Drain

#

Q5/08...

A/O505-..
AL/E6505-..
VSG/ESG
GS/... AL/0005...

AL/0009...

Q5/08...
AL/...-Drain
AL/003...




FIX series A h P

mal s
G

@ é. lKAl ES .; STATIC STUDIO RlSE @

glass t
L
gl
&
E&iﬁ'ﬁ ™ =SS 4
& 10x4 45 L1 __!__ 200
. . AL/0004-...5-E-Drain ot e
|
& ‘ é
AL/0004-1250-S-E 1250 AL/O004-5E-Drain
AL/0004-2500-5-E 2500 50 v
ELOX AL/0004-5000-5-E 5000
: AL/0004-6000-5-E 6000
satin a 100
_ AL/0004-5000-5-E-Drain _ G e
AL ELOX black AL/0004-5000-5-EB-Drain R ae e
ELoX o, AL/0004-2500-S-VA-EXCLUSI 2500 50
Incx i
AL/0004-5000-5-VA-EXCLUSI 5000 v
RAL7016 AL/0004-6000-R7016 coo0  1° ) | e
RAL 9005 AL/0004-6000-R9005 | e

l

.~ANGLE

)

|
angle
ELOX AL/0034-004-5-E
satin  ELOXinox  AL/0034-004-S-VA-EX
ALUMINIUM ELOX AL/0034-004-S-E-ANGLE - 45°
RAL7016 AL/0034-004-R7016
RAL9005 AL/0034-004-R9005

ELOX  AL/0004-S-E-90-IN ELOX  AL/0004-S-E-90-OUT
ELOXinox AL/O004-S-VA-EX-90IN | ELOXinox AL/0004-S-VA-EX-90-OUT |
RAL7016 AL/0O004-R7016-90-IN Mew RAL7016 AL/0004-R7016-90-OUT | Faeil/
RAL9005 AL/0004-R9005-90-IN Aew RAL9005 AL/O004-R9005-90-0UT v/
412
200 I
A\ ‘v/ T ] e} &
> 1/
Mw| ran i\ Wra s .
~ -2 AT & &
Fod &
T O O o 0
& &
& 6 ©
& %
AL/0004-...
AL/0004-1250... 4
W . AL/0004-2500... 7
_UMINIUM ELOX AL/0004-5-E-Drain .
ALUMINIUM ~ satin L/ AL/0004-5000... 13 AL/0004-...Drain
AL/0004-8000... 15




o[o[oZ 9 FIX series

25 A19/0004-012-02.5
12 5 A19/0004-012-05.0
= (5] A19/0004-012-06.0
25 A19/0004-012-25.0
25 A19/0004-012-02.5 M FIX.SET
12,76 a A19/0004-013-05.0
6 A19/0004-013-06.0
25 A19/0004-013-25.0
2.8 A19/0004-017-02.5 A19/0004-rubber...
16,76 5 A19/0004-017-05.0 (black)
| 6 A19/0004-017-06.0
25 A19/0004-017-25.0 A19/0004-F-G... ]
25 A19/0004-018-02.5 (black)
17.52 5 A19/0004-018-05.0
G4 (5] A19/0004-018-06.0
25 A19/0004-018-25.0 —
25 A19/0004.021.02.5 A19/0004-plast 12
20.76 5 A19/0004-021-05.0 12,76
6 A19/0004-021-06.0 :g;g
25 A19/0004-021-25.0 2076
25 A19/0004-022-02.5 A19/0004-L-ECO ..2152
21,52 5 A19/0004-022-05.0 (4pcs/m) L (4pes/m)
1 - (5] A19/0004-022-06.0
25 A19/0004-022-25.0
PVC-P - interier EPDM - axteriar PVC-P - interier EPDM - exterier
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 25
g3y A19/0004-F-G-05.0 5 Jray  A19/0004-17-18-G-05.0 5 16.76-17.52
_ A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 129152 A19/0004-rubber12-13-02.5 25
black A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
(exert A19/0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 g 1081302
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 C E—
et=i=r) A19/0004-rubber17-18-06.0 8 : :
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g 20762152
A19/0004-rubber21-22-25.0 25
\ﬂ black A19/0004-D-B-100 100 122152 ‘

IERLEE natural Q10/ANGLE-0-3-60 |

AlSI304 _na{'m:al'f Q10/60-M16/M10

CHEM. ANCHOR CHEM.

., omgmgeees
(Epes/m) (1pes/2.5m) Bpes/m) (5pcs/m)
AS/08-105x11xM8 - Q5/01B-400 - -
= 5 o = Q5/08-12-125
- Q5/08-VHG-M8-100/S  Q5/01B-400 W-DIN 7991 M&x20-P -
| - - . s - s Q5/08-FH12-50
_ - AS/DB-105x11xM8 3 'Q5/01B-400 .
B .| | = = = - A5/08-12-125
= 12| | = AsS/08-VHGMSE-100/A4 Q5/01B-400 W-DIN 7921-A4 M8x20-P -
| 0,85 o e = = = As/08-HAZ-MB-80SK/A4

11



ofe[e:N=efe] FIX series

il
8
[RAL LINE|
;MAKDV @21
+
—k )
Black ELDX D145
. . L1 200
i
AL/0004-ECO-Drain
AL/0004-ECO-2500-5-E 2500 50
ELOX AL/O004-ECO-5000-5-E 5000 S
satin AL/0004-ECO-6000-5-E 6000
. Elox  AL/O004-ECO-2500-S-EB 2500 50 o
ALUMINIUM 1kN  12,00-21,52
' ' black Al /0004-ECO-5000-S-EB 5000
100
RAL7018 AL/O004-ECO-6000-R7016 6000 Mew
RAL 9005 AL/0004-ECO-6000-R9005 Hew

il
— SN PEENYN | 010/ANGLE-0-3-60 |

==

. . ..ANGLE

ELOX  AL/0034-004-ECO-SE
satin  ELOXblack AL/0034-004-ECO-S-EB
ALUMINIUM ELOX AL/0034-004-ECO-S-E-ANGLE | = 45°

RAL7016 AL/0034-004-ECO-R7016 o [hew
RAL 9005 AL/0034-004-ECO-R9005 W

Q9/03-..

alope
_ .
N IEESEE - A14/0005-pin Mew Q10/60-M16/M10

eatin | ELOX  AL/0004-ECO-S-E-90-N satin | FLOX  AL/OOO4-ECO-S-E-90-OUT
ALUMINIUM ELOXblack AL/0004-ECO-S-EB-90-IN | ALUMINIUM ELOXblack AL/O004-ECO-S-EB-90-OUT
S RAL7016 AL/OOO4-ECO-R7016-90-IN A&/ ettt RAL7016 AL/OO04-ECO-R7016-90-OUT A&/
RALO005 AL/O004-ECO-R9005-90-IN | A&/ RAL900S AL/0004-ECO-R9005-90-OUT  fE&/
267
335 200
1 1
o T T
g Ul :|:
& baA ti;l' +\¢3" 4
|| 5 16
dx =67 y
&
-€3
. S0
. . AL/ODO4-ECO-..-S-E AL/0004-ECO-...
m satin A/0004-ECO-Drain AL/O004-ECO-. -SEB 2,5 AL/0004-ECO-Drain

12



ee[of:BeleN FIX series

25 A19/0004-012-02.5
12 5 A19/0004-012-05.0
6 A19/0004-012-06.0
25 A19/0004-012-25.0
25 A19/0004-013-02.5
12,76 5 A19/0004-013-05.0 M FIX-SET
¢ 6 A19/0004-013-06.0
25 A19/0004-013-25.0
2,6 A19/0004-017-02.5
16.76 5 A19/0004-017-05.0
6 A19/0004-017-06.0
25 A19/0004-017-25.0
25 A19/0004-018-02.5 A19/0004-F-B.. — | | A19/0004-rubber...
17.52 5 A19/0004-018-05.0 (black) (black)
6 A19/0004-018-06.0
25 A19/0004-018-25.0
2,6 A19/0004-021-02.5
20,76 5 A19/0004-021-05.0
6 A19/0004-021-06.0
25 A19/0004-021-25.0 Yy
2,6 A19/0004-022-02.5 : )
/ A19/0004-L-ECO A19/0004-plast...
21,52 5 A19/0004-022-05.0 -
6 A19/0004-022-06.0 (4pcs/m) (4pcs/m)
25 A19/0004-022-25.0
" 4 ‘3-‘;;,_ .
PVC-P - intariar EPDM - extariar PVC-P - intariar
EPDM - extarier
A19/0004-F-G-02.5 25 ' A19/0004-17-18-G-02.5 25
Sy, A19/0004-F-G-05.0 5 3y A19/0004-17-18-G-05.0 5 16,76-17,52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 19-21.52 A19/0004-rubber12-13-02.5 25
A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
black 12,76-13,52
(=iterizr) A 19/0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 5 ’ '
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
(meterier] 16,76-17,52
\ Q A19/0004-rubber17-18-06.0 5
| A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
_ A19/0004-rubber21-22-06.0 g dBIhES
AL/glass-mont-PRO | L A19/0004-rubber21-22-25.0 25

AL/glass-mont-PRO FLEX/FIX

: = : : - - { for glass t (12-21,52)
Rubber black A19/0004-D-B-100 100 12-21,52 PETG gray A19/glass-stop for slope angle (< 45°)

| E! ' . ,-

C €' CHEM. ANCHOR : CHEM. ANCHOR FASTENERS MECH ANCHOR
(5pcs/m) {1pcs/2.5m) (5pcs/m) (5pcs/m)

N - A19/27-M10 - Qs5/01E-400 DIN 7380 M10x20-Zn DIN 125 10-Zn -
Q Nor| ~ | E - o _ : = Qs/08-M8-805/S
o - KN - Q5/0BVHGM10-80/S ~ Q5/01B-400  DIN7380M10x20Zn  DIN 125 10-Zn E
o | 1] - - - - - Q5/08-HAZ-MB-855/3
8 - o | A19/27-M10 - 05/ B-400 A4-DIN 7380 M10x20  A-DIN 125-A2 M10 2
L 07| | - - _ AS/08-ME-80S/S
&' A0 1 | o - AS{OB—VHGMM—BO_;’A:! Qs5/01B-400 A4-DIN 7380 M10x20  A-DIN 125-A2 M10 =
08| - - - - - AS/08-HAZ-MB-855/A4

13



olololNMlelsdl FLEX series

G

AL/0004-LIGHT-2500-S-E 2500
|ALUMINIUM =atin ELOX AL/0004-LIGHT-5000-S-E 5000
AL/0004-LIGHT-6000-S-E 6000

-.ANGLE

slope
angle

; AL/0034-004-LIGHT-S-E 0
|ALUMINIUM  satin | ELOX

AL/0034-004-LIGHT-S-E-ANG | = a5°

ALUMINIUM  satin | ELOX

AL/0004-LIGHT-5-E-90
267
3.5 200 "
:a‘ il T Lu*
i i |
] ¥ F @ -L‘Tj- JQ +
5
14
A =AT

satin  A/O004-LIGHT-Drain AL/0004-LIGHT-... 25
14

AbP

~-
NS

@45

LUSEREE L E -1 A14/0005-pin

PETG gray

new

malsda
m CERLET
L
@28
® T T T
| |
_‘L'.B = I |
L1 200
A/D004-UGHT-Drain
50
0,5kN 12,00-17,52 built in drain \/ +11°
100
hew

e ’
T

LSRR 11518 Q10/ANGLE-0-3-60

1T 2

ILTRLER 1T 010/60-M16/M10

MP/excenter-mount

&/

£

1%

AL/0004-LIGHT-Drain

AL/0004-LIGHT-...S-E




ole[oZBNlelzIM FLEX series

25 A19/FLEX1-012-SET-02.5
i 5 A19/FLEX1-012-SET-05.0
6 A19/FLEX1-012-SET-06.0
25 A19/FLEX1-013-SET-02.5
12ae "y A19/FLEX1-013-SET-05.0
6 A19/FLEX1-013-SET-06.0
25 A19/FLEX1-014-SET-02.5
1352 5 - A19/FLEX1-014-SET-05.0
6 A19/FLEX1-014-SET-06.0
25 A19/FLEX1-017-SET-02.5 (black)
1676 5 A19/FLEX1-017-SET-05.0
6 A19/FLEX1-017-SET-06.0
25 A19/FLEX1-018-SET-02.5 _—
1752 s A19/FLEX1-018-SET-05.0
6 A19/FLEX1-018-SET-06.0
|Dlack)
Sy lri‘f‘l‘r‘:z?‘r—"'-!'“ ___,_/
icl.lj_kr(_‘ =-—~£*_J.“-_=£g§u —= /
A19/FLEX1...
| @8/70-275-PRO  275mm 1/4"
Rubber black A19/0004-D-B-100 100 12-21,52
X
:'."'\
AL/glass-mont-PRO #
- - for glasst (12-21,52) P
AL/glass-mont-PRO FLEX/FIX PETG gray A19/glassstop for slope angle (< 45°) -

CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
_ (5pes/m) (1pcs/2,5m) (Spes/m) (5pes/m)

|

A19/27-M10 = 05/01B-400  DIN7380M10x20-Zn  DIN 125 10-Zn - -
e = - = = Q5/08-M8-80S/S =
g - Q5/0BVHGM1080/S  Q5/01B400 _ DIN73B0M10x20Zn DN 125 10Zn - -
] z E = = = Q5/08-HAZ-M8-855/S -
:'r' - 2 = - . : Q5/08-B5-5-10-90/5
S A19/27-M10 = Q5/01B400  A4DIN 7380 M10x20  A-DIN 125-A2 M10 = =
S _ z 5 - 5 AS/08-M8-80S/S S
= z A5/08VHG-M10-80/A4 QS/01B-400  A4-DIN7380 M10x20  A-DIN 125-A2 M10 T :
= E 5 = 5 = AS/08-HAZ-MS-855 /A4 -
- - - - - - As/08-85-5-1080/A4.

15



ofo[oDM[ci Il CONNECTION PROFILES - TOP MOUNT

22,1

202
27

‘ AL/0051-2500-5-E 2500
ALUMINIUM satin @ ELOX AL/0051-5000-5-E 5000
‘ AL/0051-6000-S-E 6000

27

AL/0052-2500-5-E 2500 ﬂ i o]
ALUMINIUM =atin = ELOX AL/0052-5000-S-E 5000 \ . .
3 - 4 4z
‘ AL/0052-6000-S-E 6000 .
‘.,
5 %
r & 4.ty
.. . & . "-: 4 ey
W gl ER A . S -
L By B SN MR R S e
e (e TR -"4-' . i@
ooy TR ety 4 a
‘4,'." . “‘- Lo e .-.. .",‘
L92 |, -"“.4 4 "“ Boaory
& 0] = GO e ey e
- . T = L R TSP S
[ e a ..,' . * A
.1_1"4_‘“‘ . PR B




olofelBR[cl )l CONNECTION PROFILES - TOP MOUNT

201
10,2

3.2

15.2

20.1
)‘4 a
AL/0053-2500-N-E 2500 4
|ALUMINIUM natur ELOX AL/0053-5000-N-E 5000 Y “ow e
4
AL/0053-6000-N-E 6000 . e
L,
" 'a. £l
7 yi & Fa ] - . o -':' s,
| R i, R TR
10.2 AR G O T S
20,2 | e B L e O
I PR B o 2o
A O R s L R
¢-‘:‘ “.'" ‘4‘:'.‘
[t e --,4.4‘ "-‘
20,2 N T T
5 3 - o P
102 | R e e By M
i
L

21

AL/0054-2500-5-E 2500
[ALUMINIUM satin = ELOX AL/0054-5000-S-E 5000

a 4
AL/0054-6000-5-E 6000

a
* 2
a
. 4
& 4 2
+ 4
-
- N

17



18

s

GLASS

o[o[o:BN[, Y (M FLEX series

Cme

ALUMINIUM. ~ =atin

ALUMINIUM  satin

ALUMINIUM  <atin

lass L
l S
i) @ 30
l P15,5 6xP6
R TIT | T !!
LA = L ~
’ 64 100 200
WM A
. A/0004-UneXL-Drain
AL/0004-UnoXL-2500-5-E 2500 50
ELOX AL/0004-UnoXL-5000-5-E 5000 1kN g 16,76-21,52 built in drain \/ +1,1°
AL/0004-UnoXL-6000-5-E 6000 M‘/
- 4
[]
=

ANGLE
alope
_ .
oy AU0034008noxLSE o EEIEN 1| A14/0005-pin e

AL/0034-004-UnoXL-S-E-ANGLE = 45°

i

PETG gray MP/excenter-mount

ELOX AL/0004-UnoXL-5-E-90

CIRIRLERE L E T Q10/ANGLE-0-3-60
]
=

LL=UE U @10/60-M16/M10

62

m satin | A/0004-UnoXL-Drain AL/0004-UnoXL-... 25

267
33.5 200 ,
- T T T
i I 1 !
fg Q‘?
16 5 A
4 =47 o

L A3

A/0004-UnoXL-Drain

AL/0D04-UnoXL-...S-E

e

rd



OOO4-Un WM FLEX series

1676 ¢
1752
2076

21,52

11

=

A19/FLEX2-017-SET-02.5
A19/FLEX2-017-SET-05.0
A19/FLEX2-017-SET-06.0
A19/FLEX2-018-5ET-02.5
A19/FLEX2-018-SET-05.0
A19/FLEX2-018-SET-06.0
A19/FLEX2-021-5ET-02.5
A19/FLEX2-021-5ET-05.0
A19/FLEX2-021-5ET-06.0
A19/FLEX2-022-5ET-02.5
A19/FLEX2-022-5ET-05.0
A19/FLEX2-022-SET-06.0

(black)

-

(DIACK)

/

A19/FLEX2...

Q8/70-275-PRO  275mm 1/4”
[Bubher black A19/0004-D-B-100 100 12-21,52
X
b >
AL/glass-mont-PRO
cik 4 forglasst (12-21,52)
AL/glass-mont-PRO FLEX/FIX PETG gray A19/glass-stop for slope angle (< 45°)  ~—ANGLE
| -
| ! -
| A J
CHEM. ANCHOR CHEM. MECH ANCHOR
(5;_15%11} (1_pcs/2,5m] (Spcs/m)
A19/27-M10 - Q5/01B-400  DIN7380M10x20Zn  DIN 125 10-Zn - -

» - - = - - 05/08-M3-805/S -
= . Q5/08VHGAM10-80/S  Q5/01B-400  DIN7380M10x20Zn  DIN 125 10-Zn = z
2 - - - - - Q5/08-HAZMB855/S - !
3‘: - - - - - - Q5/08-BS-5-10-90/5
o A19/27-M10 - 05/01B-400  A4-DIN 7380 M10x20  A-DIN 125-A2 M10 - -
8 2 = = = = A5/08-MB-80S/S =
iy 2 AS/0SVHGM10-80/A4 Q5/01B-400  A4DIN7380M10x20  ADIN125-A2 M10 - <
= = : = E E AS/08-HAZME-855/A4 =

= 5 = T : Z A5/08-B5-5-10-90/A4

19



* GLASS
AL/0004-PRO-2500-S-E
|ALUMINIUM =atin ELOX AL/0004-PRO-5000-S-E
AL/0004-PRO-6000-S-E

* 3kN - info according to the test protocal 03/23

--ANGLE

|ALUMINIUM  =atin ~ ELOX

oJo]o:B=I={ol F| EX/FIX series

£1.1°

AbP |-

tested

P Ll
= =T

glass t L
g 28
14 Db
3 R G R
\JI- | L o
&0 L1 200
M 0! rT‘u
A/D004-PRO-Drain
2500 50
5000 2K 12,00-21,52  builtin drain v £11°
[3kN") 100
6000
- = .
|||»
~

®s

%

AL/0034-004-PRO-S-E
AL/0034-004-PRO-S-E-ANGLE

sloj
.
o CUSERIE 5 S A14/0005-pin

£45°

ALUMINIUM  satin ELOX AL/O004-PRO-S-E-90

267

335

HOLTT

iy

LERLDEEN satin | A/O004-PRO-Drain  AL/0004-PRO-..-S-E 2.5

20

U

PETG gray MP/excenter-mount

hew

FAEELEM - Q10/ANGLE-0-3-60
P i =

AlSI304 n_étl.lr_'él- Q10/60-M16/M10

AL/0004-PRO-...S-E
A/0004-PRO-Drain




oJo]o:B=I={ol F| EX/FIX series

25 A19/FLEX-012-SET-02.5
12 5 A19/FLEX-012-SET-05.0
6 A19/FLEX-012-SET-06.0

25 A19/FLEX-013-SET-02.5
T A19/FLEX-013-SET-05.0
6 A19/FLEX-013-SET-06.0

25 A19/FLEX-014-SET-02.5
1dna g 3 A19/FLEX-014-SET-05.0
6 A19/FLEX-014-SET-06.0

25 A19/FLEX-017-SET-02.5
178 " g A19/FLEX-017-SET-05.0
s A19/FLEX-017-SET-06.0
25 A19/FLEX-018-SET-02.5
iR A19/FLEX-018-SET-05.0
6 A19/FLEX-018-SET-06.0

2076 2.5 A19/FIX1-21-SET-02.5
5  A19/FIX1-21-SET-05.0
6 A19/FIX1-21-SET-06.0 1HEER
25 A19/FIX1-22-SET-02.5
2152 5 A19/FIX1-22-SET-05.0

6 A19/FIX1-22-5ET-06.0 /

A19/FIX...

|DIACK)

/

A19/FLEX1...

-
Jelicky
kol

Q8/70-275-PRO 275mm 1/4"
Rubber black A19/0004-D-B-100 100 12-21,52
\
2
AL/glass-mont-PRO
: forglasst (12-21,52) SHELE
AL/glass-mont-PRO FLEX/FIX PETG gray A19/glass-stop for slope angle (< 45°) A

| El ' -

CHEM. ANCHOR M. MECH ANCHOR
(Spcs/m) (1pcs/2,5m) (5pcs/m)

A19/27-M10 = Q5/01B-400  DIN7380M10x20-Zn  DIN 125 10-Zn = =
- - 5 - = Q5/08-M8-80S/S -
o 5 Q5/08VHGM10-80/S  05/01B400  DIN7380M10x20Zn  DIN12510Zn = =
& < 5 8 : E Q5/08-HAZ-M8-855/S =
< - - = - - } - Q5/08-BS-5-10-90/S
8 A19/27-M10 2 Q5/01B-400  A4-DIN 7380 M10x20  A-DIN 125-A2 M10 ) )
e - - E E -  AS/08-M8-80S/S -
= = AS/0BVHGM10-80/A¢ Q5/01B-400  A4-DIN7380M10x20  A-DIN 125-A2 M10 - -
= = 5 = B A5/08-HAZM8-855/A4 =
= = = = z = A5/08-85-5-10-90/A4

21



FIX series

" AL/0008-2500-S-E
AL/0008-5000-S-E

m
]

satin = ELOX  AL/0038-004-S-E

Gasst | _

128

60

STATIC STUDIO @ Facty oo

e

@14

NN

Ll

200 |

50
100

3kN 21,52-25,52

ELOX  AL/O008-S-E-90-IN

saiin

29

ELOX

AL/0008-S-E-90-0UT



FIX series

25 A19/0004-012-02.5
2152 5 A19/0004-012-05.0
25 A19/0004-012-25.0 |u| FIX-SET
25 A19/0008-026-02.5
2502 5 A19/0008-026-05.0
25 A19/0008-026-25.0
A19/0004FE.. | | A19/0004-rubber...
(black) A19/0008-rubber...
(black)
A19/0004-L-ECO A19/0004-plast...
(4pes/m) A19/0008-plast...
o R (4pcs/m)
PVIC-P - interisr EPDM - extarier PVC-P - interier EPDM - axteriar
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 25
23y A19/0004-F-G-05.0 5 9ray  A19/0004-17-18-G-05.0 5  16,76-17.52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 122150 A19/0004-rubber12-13-02.5 25
black A19/0004-F-B05.0 5 A19/0004-rubber12-13-05.0 S ) eqse0
(exterier) 7 19/0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 6 : '
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
(s A19/0004-rubber7-18-06.0 i v
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g 20782152
A19/0004-rubber21-22-25.0 25
Rubber black A19/0004-D-B-100 100 12-21.52

CHEM. ANCHOR

CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
(5pcs/m) (1pcs/2,5m) (5pcs/m) (5pcs/m)

AS/08-105x11xM8 = 05/01B-400 - -
2 - = - 05/08-12-125

o _ 5 Q5/08VHGM12-125/8  Q5/01B-400 DIN 7991 M12x30-Zn -
2 N 12| | - - - - Q5/08-FH12-50
e | - | | AS/08-105x11:xM8 =  Q5/01B400 - ) ————
= - | - | = . - ) - AS5/08-12-125

| s| | = AS/08VHGM12-125/A4  Q5/01B-400 A4-DIN 7991 M12x30 2

08| ! - - - - AS5/08-HAZMB-B0SK/ A4

o3



eloelsN=/y (M FLEX/FIX series

B @30
: P14 Ds
| E -;r. [ S N S N "l v A b5 d N S S % A T ‘I
| N |
”6 LKL | RTINS | B
L i 200
GLASS ”
AL/0008-ProXL-2500-5-E 2500 50 Mew
ALUMINIUM  satin = ELOX AL/O0O8-ProXL-5000-S-E 5000 3kN  16.76-31,52 b;r‘;‘ir“" +11° | ew
100
AL/0008-ProXL-6000-5-E 6000 new

24

--ANGLE

|m;i,lnmull satin | ELOX
| AL/0034-008-ProXL-S-E-ANG |- 25 | JuEW/

"‘"‘”

1

alope
angle Lol
AL/0034-008-ProXL-S-E o |ew IRl LE el A14/0005-pin Anew

ALUMINIUM safin = ELOX AL/0008-ProXL-S-E-90 el PETG gray MP/excenter-mount

AT T

P4



(o[e[o}:B=I~le) (M FLEX/FIX series

*11°
;-"T'"-;
25 A19/FLEX2-017-SET-02.5
lore g A19/FLEX2-017-SET-05.0
6 A19/FLEX2-017-SET-06.0
2,5 A19/FLEX2-018-SET-02.5
1752 g A19/FLEX2-018-SET-05.0
6 A19/FLEX2-018-SET-06.0
2,5 7 A19/FLEX2-021-SET-02.5
20.76 . 5 A19/FLEX2-021-SET-05.0
6 A19/FLEX2-021-SET-06.0
2,5 A19/FLEX2-022-SET-02.5
2182 g A19/FLEX2-022-SET-05.0
6 A19/FLEX2-022-SET-06.0
5476 25 A19/FIX2-25-SET-02.5
5 A19/FIX2-25-SET-05.0
6 A19/FIX2-25-SET-06.0
2,5 A19/FIX2-26-SET-02.5
2552 5 A19/FIX2-26-SET-05.0 s
6 A19/FIX2-26-SET-06.0
3152 25 A19/FIX2-32-SET-02.5
5 A19/FIX2-32-SET-05.0 _
s o A19/FIX2-.. A19/FLEX2-]

Rubber black A19/0004-D-B-100 100 12-21,52

@

N 4 |

felicky B

AL/glass-mont-PRO

Q8/70-275-PRO 275mm 1/47 AL/glass-mont-PRO FLEX/FIX

anissasssies

| *

c E CHEM. ANCHOR CHEM. MECH ANCHOR
_ L _ (Spes/m) (1pcs/2,5m) (5pes/m)

- | A19/27:M10 - _ Q5/01B400  DIN7380M10x20Zn  DIN12510Zn
| 11 = . - - - - ) - Qs5,/08-M8-805/5
d 3l 3 & Qs5/08-VHGM10-80/5 Qs5/01B-400 DIN 7380 M10x20-Zn DIN 125 10-Zn - -
S '3 ] & . B s 5 z Qs5/08-HAZ-ME-855/5 -
g | N _ - - - - - - 05/08-855-1090/S
g | - B A1G/27-M10 - Qs5,/01B-400 A4-DIN 7380 M10x20  A-DIN 125-A2 M10 - -
=] | 11 - = - - - AS/08-MB-80S/5 -
i out| 3 i = AS/08VHGM10-80/A4 Q5/01B-400  A4DIN7380M10x20  ADIN 125-A2 M10 5 5
= 2] « [ . : W ] : = | AS/08HAZME-855/A¢ : 1
| 3 i i 4 ek e - A5/08-B5-5-10-90,/A4

25



26

FLEX/FIX series

32

P28
D14 bxDé

136
I 7

o

‘ 120

L1 200

AL/0019-2500-N-E 2500 50
ALUMINIUM satin | ELOX Al /0019-5000-N-E 5000 556 3kN
AL/0019-6000-N-E 6000

ALUMINIUM satin | ELOX AL/0034-019-N-E |

ALUMINIUM satin | ELOX AL/0O19-N-E-90

: AL/0011-PRO-S-E-1250-Drain 1250
ALUMINIUM =atin @ ELOX =
' AL/0011-PRO-S-E-2500-Drain 2500

EM 6! k T~
| AL/0011-PRO. Drain

16,76~ built in
31,52 drain ‘/

11"

PETG gray MP/excenter-mount

Q9,/03-0,2x9

AL/0011-PRO. Drain




s[oxi=M FI EX/FIX series

e
25 A19/FLEX2-017-SET-02.5
16,6 .5 A19/FLEX2-017-SET-05.0
6 A19/FLEX2-017-SET-06.0
25 A19/FLEX2-018-SET-02.5
752 g A19/FLEX2-018-SET-05.0
6 A19/FLEX2-018-SET-06.0
25 : A19/FLEX2-021-SET-02.5
2076, .5 A19/FLEX2-021-SET-05.0
6 A19/FLEX2-021-SET-06.0
25 A19/FLEX2-022-SET-02.5
252 g A19/FLEX2-022-SET-05.0
6 A19/FLEX2-022-SET-06.0
si76 25 A19/FIX2-25SET-02.5
' 5 A19/FIX2-25-SET-05.0
6 A19/FIX2-25-SET-06.0
2,5 A19/FIX2-26-SET-02.5
2552 5  A19/FIX2-26-SET-05.0 -
6 A19/FIX2-26-SET-06.0
a15p 25 A1S/FIX2-32:SET-02.5
I LA e AR A19/FIX-... A19/FLEX2-..
6 A19/FIX2-32-SET-06.0
|Rubber black A19/0004-D-B-100 100 12-21,52

oy

{c Iici;g

3

N

=

AL/glass-mont-PRO y 3

] a—| a— e

AL/glass-mont-PRO FLEX/FIX Q8/70-275-PRO 275mm 1/4”

| g! ' " .-

'CHEM. ANCHOR ~ CHEM. MECH ANCHOR
(5pes/m) {1pcs/2,5m) (5pes/m)

run—,

A19/27-M10 - Qs/01B-400  DIN 7380 M10x20-Zn  DIN 125 10-Zn 2 -
- - - - - ~_ Qs/08M8-808/S -
- Q5/0EVHIGM10-80/S  Q5/01B-400  DIN 7380 M10x20-Zn  DIN 125 10Zn < =
o - - . - = Q5/08-HAZ-M8-855/S -
5 - - SIUNNL I - Q5/08-85810-90/5
2 A19/27-M10 - Q5/01B-400  A4DIN 7380 M10x20  A-DIN 125-A2 M10 - -
= B ) - - 3 AS/08-M8-805/S -
2 AS/0BVHGMI0-80/A4 QS/01B400  A4DIN7380M10x20  A-DIN 125-A2 M10 = Z
- : : : : AS5/08HAZMB-85S /A : .
: - : - - - AS/08-BS-S-10-90/A4

27



LGAPY , B
tested| STATIC STUDIO -

- (o[o]o[Sl FIX series

45
glass t
-1 ek L
o
&
o
2 P4
Il I J
[ 11T IRY
Pl 700 5 | 200 .
Eﬂ. LINE| 75 -
UMAKDY|
3,
. __A/0O00B-Drain |
AL/0006-1250-5-E 1250
AL/0006-2500-5-E 2500 50
satin ELOX
- AL/0006-5000-5-E 5000
ALUMINIUM 3kN 12,00-21,52 v
AL/0006-6000-5-E

100
RAL 7016 AL/0006-6000-R7016 6000
RAL 9005 AL/0006-6000-R9005

i

_ ELOX _ AL/O00E-S-E-90-IN ' =atin = FLOX  AL/000E-S-E-90-OUT ‘
ALUMINIUM RAL7016 AL/O00E-R7016-90-IN | ew ALUMINIUM RAL7016 AL/0O00E-R7016-90-OUT ‘Mw
RAL 9005 AL/0O008-R9005-90-IN | e/ RAL 9005 AL/O008-R9005-90-OUT e

267

335 200

&7

|

P
$ f—
pi=]

&

L/

1

4w = 4T

5 16
S

.

i : AL/0006-...
A/0006-Drain AL/0006-..-SE 25 A/0006-Drain

28



ool FIX series

Material Effect

art.

ELOX
RAL 9005
RAL 7016

AL/0034-006-S-E

|AL/0034-006-R9005

AL/0034-006-R7016

ELOX
RAL 9005
RAL 7018

AL/0035-006-S-E

AL/0035-006-R9005

AL/0035-006-R7016

i 8

Material Finish Effect art.

2
7R g
N ; !
=11 ==
w =
P26.2 =
:_C‘\J:liii:.n’” Finish art.
PVC  black A24/0006-003
51.7
r-—-
e
5
@5
Material Finich Effect art. L
AL/0026-2500-5-E 2500
ELOX AL/0026-5000-S-E 5000
AL/0026-6000-5-E 6000
clox AL/0026-2500-S-EB 2500
black  p) /0026-5000-5-EB 5000

AL/0034-006-K... AL/0D35-006-K...

2pcs/m

A24/0006-003
2pcs/m




12,76

16,76

17,52

20,76

21,52

Rubber

Rubber

30

(o[o]o[SlM FIX series

2.6 A19/0004-012-02.5
5] A19/0004-012-05.0
5] A19/0004-012-06.0
25 A19/0004-012-25.0
2.6 A19/0004-013-02.5
] A19/0004-013-05.0
G A19/0004-013-06.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
] A19/0004-017-05.0
5] A19/0004-017-06.0
25 A19/0004-017-25.0
2.5 A19/0004-018-02.5
] A19/0004-018-05.0
5] A19/0004-018-06.0
25 A19/0004-018-25.0
25 A19/0004-021-02.5
5] A19/0004-021-05.0
4] A19/0004-021-06.0
25 A19/0004-021-25.0
25 A19/0004-022-02.5
5] A19/0004-022-05.0
5] A19/0004-022-06.0
25 A19/0004-022-25.0
PVC-P - intarisr EPDM - axtarier
A19/0004-F-G-02.5 2,5
2y, A19/0004-F-G-05.0 5
A19/0004-F-G-25.0 25
A19/0004-F-B-02.5 2,5 12-21,52
black A19/0004-F-B-05.0 S
[ecerier) A419/0004-F-B-06.0 5]
A19/0004-F-B-25.0 25
black A19/0004-D-B-100 100 .12.—21.52

A19/0004-F-B...
(black)

A19/0004-L-EC

[~ A19/0004-rubber...
(black)

A19/0004-plast...

(4pcs/m)
(4pcs/m) L———
PVC-P - interier EPDM - exterier
A19/0004-17-18-G-02.5 25
ligﬁgﬂ A19/0004-17-18-G-05.0 5 16,76-17.52
A19/0004-17-18-G-25.0 25
A19/0004-rubber12-13-02.5 25
A19/0004-rubber12-13-05.0 5
A19/0004-rubber12-13-06.0 g OS2
A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
(sxre A19/0004-rubber17-18-06.0 g 18J61752
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004 rubber21-22-06.0 g 20762152
A19/0004-rubber21-22-25.0 25




AL/0006'

olo[o[SHl FIX series

[
(=}
(=}
(=]
)
<

:'I
y -
! = e
€ omame o, e
| (Spes/m) (1pcs/2,5m) (Spes/m) (Spcs/m)
| A-DIN 975 M12-120 - Qs/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 E |
| - - - - - Q5/06-12x110CE
o | = Q5/08-VM 250-M12-160  Q5/018-400 - : -
| - - - - - Q5/08-FBN12-30
| A-DIN 975 M12-120 - Qs/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 =
= ||| - A-05/06-12x110CE
o | 2 AS/08VM 250-M12-160-A4  O5/01B-400 = = =
| < £ Z = = A4-05/06-12x110CE
9 =
o
o )
6‘ CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS
(5pcs/m) (1pcs/2,5m) (Spcs/m) (Spcs/m)
| A-DIN 975 M12-120 - Qs5/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 £
e Q5/08-M8-1208/S
- Q5/08-VM 250-M12-160  Q5/01B-400 = = -
- - - - - Q5/08-HAZ-MB-855/S
| A-DIN 975 M12-120 - Qs/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 Z
L AS/08-ME-1205/S
] - AS5/08-VM 250-M12-160-A4 (Q5/01B-400 - - -
[ = = = . - AS/08-HAZ-ME-855/A4

31



sle[ol:Belell FIX series

AL/0O006-ECO-2500-S-E
ELOX AL/OOOG-ECO-5000-5-E
satin AL/0006-ECO-6000-5-E
e cLox AL/0O006-ECO-2500-S-EB
AL/0O006-ECO-5000-S-EB
- AL/0O00S-ECO-6000-N

RAL7016 AL/O006-ECO-6000-R7016
RAL 9005 AL/O00E-ECO-6000-R9005

ELOX  AL/ODOE-ECO-S-E-90-IN

267

ELOX black AL/0006-ECO-S-EB-90-IN
| RAL 7018 AL/0O006-ECO-R7016-90-IN
RAL 2005 AL/O00E-ECO-R9005-90-IN

335 200

i

}
T
1
b +.
e

100

I
=

|' A/0006-ECO-Drain

AISI304 [ n:

tested
53
glass t .
=
(=]
s
i W
B < @202
e
T T
) == ==
} 77 _Ji| @55
102 L1 200
S
A/000B-ECO-Drain
2500 50
5000
100
6000
2500 50
1kN  12,00-21,52 v
5000
100
8000 new
Mew
I s ELOX AL/OO0E-ECO-S-E-90-OUT
R ELOXblack AL/OO06-ECO-S-EB-90-OUT |
Aew : RAL7016 AL/O006-ECO-R7016-90-0UT | A&/
Hew RAL 9005 AL/O00E-ECO-R9005-90-OUT | fa.&il/

AL/0D0B-ECO-.. -SE
AL /OD0B-ECO-...-SEB

2,5

Ly

s

s

A/0006-ECO-Drain

AL/0D0B-ECO...




0006-ECO RahET =S

—

" ELOX AL/0034-006-ECO-SE
RAL7016 AL/0034-006-ECO-R7016

. RAL2005 AL/0034-006-ECO-R9005

__=atin  ELOX AL/0035-006-ECO-S-E

' RALTO16 AL/0035-006-ECO-R7016

'RAL 9005 AL/0035-006-ECO-R9005

IR cLox AL/0034006 ECOSER
= black ] /0035-006-ECO-S-EB

AL OO UEEL RS
_ 'AL/0035-006-ECO-K-S-E
glox AL/0034-006-ECO-K-S-EB

ELOX

black Al /0035-006-ECO-K-S-EB

®262

@117

oy
/é/\/ =

[ 42

PVC  black A24/0006-003

AL/0026-2500-5-E
ELOX AL/0026-5000-S-E
AL/0026-6000-5-E

el AL/0026-2500.SEB

black  p} /0026-5000-S-EB

PVC gray

2500

5000

6000
2500

5000

A24/0005-008 20 25

373

I

de/ooowos

AL/0034-006-ECO...
A/0034-006-ECO

AL/0035-006-ECO...
A/0035-006-ECO

AL/0028-2500-S...

AL/0034-006-ECO-K...
A/0034-008-ECO-K

AL/0035-006-ECO-K...
A/D035-006-ECO-K

Ny,

A24/0006—OO i

P
2pcs/m =

A24/00068-003
2pecs/m

A24,/0005-008




0006-ECO NEh &I

A19/0004-F-B... =]
(black)

A19/0004-L-ECO
(4pcs/m)

A19/0004-rubber...
(black)

D A19/0004-plast...
N (4pos/m)

- W

2,5 A19/0004-012-02.5

12 a A19/0004-012-05.0

L G A19/0004-012-06.0

25 A19/0004-012-25.0

2,5 A19/0004-013-02.5

12.76 5 A19/0004-013-05.0

ey 51 A19/0004-013-06.0

25 A19/0004-013-25.0

2.8 A19/0004-017-02.5

16,76 5 A19/0004-017-05.0

: 51 A19/0004-017-06.0

25 A19/0004-017-25.0

25 A19/0004-018-02.5

17.52 5 A19/0004-018-05.0

ot 5] A19/0004-018-06.0

25 A19/0004-018-25.0

25 A19/0004-021-02.5

20,76 a A19/0004-021-05.0

6 A19/0004-021-06.0

25 A19/0004-021-25.0

2,5 A19/0004-022-02.5

2152 5 A19/0004-022-05.0

51 A19/0004-022-06.0

25 A19/0004-022-25.0

PVIC-P - interiar EPDM - axtarier
T A19/0004-F-G-02.5 2,5
2y, A19/0004-F-G-05.0 5
A19/0004-F-G-25.0 25

Rubber A19/0004-F-B-02.5 25 1221 52
black A19/0004-F-8-05.0 5
exerier) | A19/0004-F-B-06.0 6
A19/0004-F-B-25.0 25
|_Fluhber black A19/0004-D-B-100 100 12-21,52

34

PVC-P - interier EPDM - extarier
- A19/0004-17-18-G-02.5 25
Ugﬁg’n A19/0004-17-18-G-05.0 5 16,76-17.52
A19/0004-17-18-G-25.0 25
A19/0004-rubber12-13-02.5 25
A19/0004-rubber12-13-05.0 5
A19/0004-rubber12-13-06.0 g (nIidae
A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
stere) A19/0004-rubber17-18-06.0 g  16.76-17.52
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g 20J6:21,52
A19/0004-rubber21-22-25.0 25




AL/0006-ECO'

s
(8]
u
©
o
<]
Q
S
x

AL/0006-ECO?

|0006-ECO

FIX series

&
| ) e
CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
A 152 gl
A-DIN 975 M12-120 - Q5/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 3 |
= - p—— = = 05/06-12x110CE
2 Q5/08-VM 250-M12-160  Q5/01B-400 z = 2 |
A-DIN 975 M12-120 - Q5/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 : |
A-05/06-12x110CE
% AS/DB-VM 250-M12-160-A4  Q5,/01B-400 2 = = [
2 2 2 = 2 A4-Q5/08-12x110CE |
i! - l
uame
(5pcs/m) (1pcs/2.5m) (Spcs/m)
A19/27-M10 - Q5/01B-400  DIN7380 M10x20-Zn  DIN 125 10-Zn - -
2 = : 3 o . Qs5/08-Me-80S/3 = il
- Q5/08VHGM10-80/S  Q5/01B400  DIN7380 M10x20-Zn  DIN 125 10-Zn = - |
- g 5 z 3 Q5/08-HAZ-MS-855/S - |
- - - - - - Qs5/08-BS-S-10-90/S
A19/27-M10 - Q5/01B-400  A4-DIN 7380 M10x20  A-DIN 125-A2 M10 - -
= I - o - h5/08-ME-80S/S =
= A5/08VHGM10-80/A4 Q5/01B400  A4-DIN 7380 M10x20  A-DIN 125-A2 M10 < - |
i 2 2 = 4 AS/DE-HAZ-ME-855/A4 z |
- - | - - - ] - AS/08-85-510-90/A4 |
.'.
 CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS
(5pcs/m) (1pcs/2,5m) (5pcs/m) (5pcs/m)
A-DIN 975 M12-120 - Q5/018-400 ADIN 1587-A2 M12  A-DIN 125-A2 M12 -
- Q5/08-M10-120S/S
- Q5/08VM 250-M12-160  Q5/01B-400 = B 5 |
- - - - - Q5/08-HAZ-M10-1065/5 |
A-DIN 975 M12-120 - Q5/01B-400 ADIN 1587-A2 M12  A-DIN 125-A2 M12 -
- A5/08-M10-70S/S
= AS/DB-VM 250-M12-160-A4  (Q5/01B-400 = = = |
- - - - -  AS/08-HAZM10-1065/A4 ]

35



- 0ol 20|\le] FLEX series

lass |
L
S 60
0] 9202
014 6xP4
|
E s e
2 D == ]
90 Ll 200 |
115
i &
AL/0011-PRO..Drain
AL/O006-UNO-2500-SE 2500 50
ALUMINIUM satin | ELOX AL/ODDG-UNO-5000-SE 5000 kN 12,00-17,52  buitin drain v
: 100
AL/O006-UNO-6000-SE 6000 new

|ALUMINIUM satin ELOX AL/O006-UNO-S-E-90-IN

R

| AL/0011-PRO-5-E-1250-Drain 1250
|ALUMINIUM =atin  ELOX
| AL/0011-PRO-S-E-2500-Drain 2500

36

L

PETG gray MP/excenter-mount

IMI'.I._“INI'ILlnl satin ELOX  AL/0006-UNO-S-E-90-OUT

A/0011-PRO-...-Drain




(sle[o[-Z8]\[e] FLEX series

AL/0034-006-UNO-S-E

ELOX
AL/0035-006-UNO-S-E
'AL/0034-006-UNO-K-SE
AL/0035-006-UNO-K-S-E
2
° =) ———ui
P~
?26,2 k=
PVC black A24/0008-003
568
1
«
J g
o
)
AL/0027-2500-5-E 2500
W d saﬁu ELOX AL/0027-5000-S5-E 5000
AL/0027-6000-S-E 6000 m

A24/0005-008 20 25

| PVC gray

AL/0034-006-UNO...

A24/0005-008

AL/0035-006-UNO...

A/0034-006-UNO

A/0035-006-UNO

AL/0D27-..-S-E
AL/0D34-006-UNO-K... AL/0035-006-UNO-K...
A/0034-008-UNO-K A/0035-006-UNC-K

A24/0006-003

A24/0006-003

Q9/03-...

A24,/0005-008




(o[e]e[sBBIN[®} FILEX series

*11°
25 A19/FLEX1-012-SET-02.5
12 5 A19/FLEX1-012-SET-05.0
6 A19/FLEX1-012-SET-06.0
25 A19/FLEX1-013-SET-02.5
278 5 A19/FLEX1-013-SET-05.0
6 A19/FLEX1-013-SET-06.0
25 A19/FLEX1-014-SET-02.5
1282 5 - A19/FLEX1-014-SET-05.0
6 A19/FLEX1-014-SET-06.0
25 A19/FLEX1-017-SET-02.5
176 g A19/FLEX1-017-SET-05.0 (black)

6 A19/FLEX1-017-SET-06.0

25 A19/FLEX1-018-SET-02.5 1
1752 ~ g A19/FLEX1-018-SET-05.0
6 A19/FLEX1-018-SET-06.0

(DIack)
[ —— 5
{elick; ST ——
A19/FLEX1...
e
Q8/70-275-PRO  275mm 174"
Rubber black A19/0004-D-B-100 100 12-21,52

.

%

L
AL/glass-mont-PRO |

AL/glass-mont-PRO FLEX/FIX



Ll HUNl) FLEX series

3 @
E l = » |

r € CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
{Spes/m) (1pcs/2,5m) (Spes/m) (5pcs/m)

| ADIN 975 M12-120 - Q5/01B-400  A-DIN934M12 A-DIN 125-A2 M12 -
o & & 4 - - Q5/06-12x110CE
5 - St eI i - - -
& [ S = S L E .= SR L
8 A-DIN 875 M12-120 # Qs/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 5
o y 5 . A05/0E2TIOCE -
ey = _A5/0B-VM 250-M12-160-A4  05/01B-400 = = =
= e - = : = A-QS/08-12x110CE

|

E I -
b
CHEM. ANCHOR CHEM

b MECH ANCHOR
(Spcs/m) (1pcs/2,5m) (5pcs/m)

A19/27-M10 - Q5/01B-400  DIN7380M10x20-Zn  DIN 125 10Zn - -
- - - - - Q5/08-M8-805/S -

Fo) - Q5/08VHGMI0-80/S Q5/01B-400  DIN7380 M10x20-Zn  DIN 125 10Zn . =

= - - - - - Q5/08-HAZ-ME-855/S =

@ - - - - - - 05/08BS-S10-90/S

S A19/27-M10 - Q5/01B-400  A4DIN 7380 M10x20  A-DIN 125-A2 M10 - -

o - = = E = AS/08-MB-805/S :

4 = AS/0BVHGMI080/A4 Q5/01B400  A4DIN7380M10x20  A-DIN 125-A2 M10 z =
= L o E = AS/08-HAZMBE-B55/A4 i |
= z i z = 2 AS/08-BS-S-10-90/A4 |

i
1

""" - ~ CHEM.ANCHOR ~ CHEM.  CHEM. ANCHOR FASTENERS MECH ANCHOR
(5pcs/m) (1pcs/2,5m) (5pes/m) Faidil)

| A-DIN 975 M12-120 - Q5/01B-400  A-DIN 1587-AZM12  A-DIN 125-A2 M12 =
5 S 05/08-M10-120S/S
% - Q5/08-VM 250-M12-160 Q5/01B-400 = = e
2 _ T = . E E Qs5/08-HAZM10-1065/S
S | A-DIN 975 M12-120 = Q5/01B-400  ADIN 1587-A2M12  A-DIN 125-A2 M12 =
o AS/08-M10-70S/S
iy 1| - AS/D8-VM 250-M12-160-A4  05/01B-400 = = =
< Ex = = F . = AS/0B-HAZ-M10-1065/A4
You




40

o[o[os2VI\N [} CONNECTION PROFILES - TOP MOUNT

22,1

AL/0051-2500-5-E

AL/0051-5000-5-E

AL/0051-6000-5-E

20,2
27

2500
5000

6000

22,1

AL/0052-2500-S-E
satin ELOX AL/0052-5000-5-E

AL/0052-6000-S-E

20,2

10

35,7

27

2500
5000

6000

3.2

i

g o
a A &
< . .4,
- -
a
a + .
4 -
- P
il & apow g
.o . .
PR
. wa
- -
‘e A a
4 o
4 a
' 4
- P

. .
&
. T A x
T . A N e N aiidy 4
. LI . . s
- T R e n
1. b A G o B b g o
s . ates e g, o, - 3
R R T T T
B " 4 . 5 * 2 - P B
- s 2% M s L e - i
" T . ¥y s A - . P -
D) . LR TP PO = .
g i . & o B .
oA, + . - - - . .
e - * . - a .« *
- i * L] - 4
- - I
HEPE Mg i o R PR
&, - s s ] at
| - . 37 FLE: SO .
3 -‘-.. “‘ S S ,:"" Fl
S s 4 LR
o ] . i Fr g .
. * A R T R T * T i 4
- H0E I sl




-
=
=
o
=
o
o
[t
]
w0
T}
=
L
o
o
o
=
o
fm
O
L
=
=
o
o
O]
25
=
(0]
o
o
o

b bl ‘ v e B o O
v W - 7 ¥
» * M A I L
X . T . ... I oot L
G w - Q Wi Rl e s . .
¥ bt S L T i
* < v LR o A sl . A i
- I . S ¥ T
" -4‘ . o - * TR T ..'1 - 4
g% ] T - -.4 s W o Lo
v hl A v Womo *opdt ooid
. + -t AR N
- [3 o ey BT
Ll - AR o L -
_Ja.. ik bk : . S R
e T a e g » i
—> S ) &° o e
2 ., R )
gt
vy, et s T ' :
¥ - n ¥ - *
By e 30T L
Mgl 2 e et il g
W i A PR |
Wy mr WD .o e
o TETLT
e V7 AT A V\ m/ N Vol w0
B T
AR S
Ao it 2
(=T = =)
(= = =]
o a3 8
b Iy
=]
R RG]
I
ol
Loz y
H

AL/0053-2500-N-E

ELOX AL/0053-5000-N-E

|ALUMINIUM  natur

AL/0053-6000-N-E

10,2

2500

AL/0054-2500-S-E

5000

ELOX AL/0054-5000-5-E

satin

- ALUMINIUM

6000

AL/0054-6000-S-E

41



- FLEX/FIX series

136

20,2

D14

£

L1 200

W &
AL/0011-PRO. _Drain

’ AL/0018-2500-5-E 2500 50
ﬂLHMIHIml saim ELOX AL/0018-5000-S-E 5000 3kN 16,76-31,52 b;_lgi:]n \/ +11°
" 100
AL/0018-6000-5-E 6000 hew
L N
25
uﬂ. .
-+ -,-_\
- é%g\t\?
AL/0011-PRO-S-E-1250-Drain 1250 . _
ALUMINIUM satin | ELOX : -
-- AL/0011-PRO-S-E-2500-Drain 2500 FYSERN 11| A14/0005-pin Mnew
—— g
| \
I b
A24,/0005-008
| e i AL/0034-018-5-E
ALUMINI n  ELOX 0034-018-S-E AL/0035-018-S-E
| AL/0035-018-S-E o 4

ALUMINIUM satin | ELOX AL/0018-S-E-90-IN |ALUMINIUM =atin | ELOX AL/0018-S-E-90-OUT

42



0018

25
16,76 5

25
17,52

20,76

21,52

A19/FIX2-25-5ET-02.5
A19/FIX2-25-5ET-05.0
A19/FIX2-25-SET-06.0
A19/FIX2-26-5ET-02.5
A19/FIX2-26-SET-05.0
A19/FIX2-26-SET-06.0
A19/FIX2-32-5ET-02.5
A19/FIX2-32-5ET-05.0
A19/FIX2-32-5ET-06.0

24,76

25,52

31,52

Rubber black A19/0004-D-B-100

FLEX/FIX series

A19/FLEX2-017-SET-02.5
A19/FLEX2-017-SET-05.0
A19/FLEX2-017-SET-06.0
A19/FLEX2-018-5ET-02.5
A19/FLEX2-018-5ET-05.0
A19/FLEX2-018-5ET-06.0
A19/FLEX2-021-SET-02.5
A19/FLEX2-021-SET-05.0
A19/FLEX2-021-SET-06.0
A19/FLEX2-022-5ET-02.5
A19/FLEX2-022-5ET-05.0
A19/FLEX2-022-5ET-06.0

100 12-21,52

A19/FIX2-

A19/FLEX2- .

i Q8/70-275-PRO 275mm
9

AL/glass-mont-PRO ; 3

AL/glass-mont-PRO

1/47

FLEX/FIX

C €' CHEM. ANCHOR
.| | (5pcs/m)
- | - A18/27-M10 -
© B = Q5/08-VHGM10-80/5
- =
o . 2 | = =
e - - | mgermi0 z
- our 3 |, 2 AS5/0BVHG-M10-80/A4
3 - -

AL/0011-PRO. .Drain

E! '

CHEM.
(1pcs/2,5m)
Qs/0 B-400 DIN 7380 M10x20-Zn
Qs5/01B400 DIN 7380 M10x20-Zn
Qs5/01B-400 A4-DIN 7380 M10x20
05/01B400  A4-DIN 7380 M10x20

DIN 125 10-Zn
DIN 125 10-Zn
A-DIN 125-A2 M10
A-DIN 125-A2 M10.

i
MECH ANCHOR
{5pes/m)

Q5/08-HAZ-M8-855/S

A5/08-HAZ-ME-855/A4

43




- FLEX series A h P

makdar
= =T

£1,1°

lass t L

X (P 4

130
oSSt
;L%;

45

34
R
T

66| Ll 200
3, N
A/0011-PRC-S-E....Drain_ built in drain
AL/0005-UNO-2500-5-E 2500 50
ALUMINIUM =atin ELOX AL/O005-UNO-5000-5-E 5000 o 1kN 12,00- 17,52 v v
| AL/0005-UNO-6000-5-E 6000 (e
]l
l_j—
el
8
..PLATE ..ANGLE r——
T
| angle
| _ AL/0034-005-UNO-S-E-PLATE o | o€/ AL/0047-2500-S-E 2500
|ALUMINIUM =atin = ELOX AL/0034-005-UNOC-S-E o ALUMINIUM satin  ELOX AL/0047-5000-8-E 5000 ¥
| AL/0034-005-UNO-S-E-ANGLE < 15° AL/0047-6000-S-E 6000 nelw

4
<

A24/0005-009

r\'zs
=™ %@%

PVC gray A24/0005-009 30 35 INSESCN -0 || A14/0005-pin new \\

ALUMINIUM  satin ELOX  AL/ODOS-UNO-S-E-90-IN I[M_UIuIIINIlBJ‘ satin ELOX  AL/O005-UNO-S-E-90-OUT

44



e[e[oENIN[®N FLEX series

*11°
,T-
25 A19/FLEX1-012-SET-02.5
R 5 A19/FLEX1-012-SET-05.0
6 A19/FLEX1-012-SET-06.0
25 A19/FLEX1-013-SET-02.5
1276 5 A19/FLEX1-013-SET-05.0
6 A19/FLEX1-013-SET-06.0
25 A19/FLEX1-014-SET-02.5
1352 g : A19/FLEX1-014-SET-05.0
6 A19/FLEX1-014-SET-06.0
25 A19/FLEX1-017-SET-02.5
16,76 5 A19/FLEX1-017-SET-05.0
6 A19/FLEX1-017-SET-06.0
25 A19/FLEX1-018-SET-02.5
17s2 g5 A19/FLEX1-018-SET-05.0
6 A19/FLEX1-018-SET-06.0
LIECK )

M- &

\:;:Iiczg l@_@u — r !

B E] e A19/FLEX1... v
,
[ -1l ! A &_I

Q8/70-275-PRO 275mm 1/4" PETG gray  Al19/glass-stop

.9

AL/glass-mont-PRO |

AL/glasz-mont-PRO FLEX/FIX Rubber black A19/0004-D-B-100 100 12-21,52

L
Eh
1.}
’_ - : AL/0011-PRO-S-E-1250-Drain 1250
ALUMINIUM =atin  ELOX -
: AL/0011-PRO-S-E-2500-Drain 2500
f
I =
| = ®,
_ !
C ( CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS
(Spcs/m) (1pcs/2,5m) (Spcs/m)
B | A-DIN 975 M12-120 - 05/01B-400 A-DIN 934 M12 ADIN 125-A2 M12 - -
1 - 2 - - - 2 Q5,/08-M8-80S/S Z
N | = v = = = . 05/06-12x110CE
o 1 - Q5/08VM 250-M12-160  Q5/01B-400 = - 2 =
< fpe— 1| v s 5 5 . 5 Q5/08-HAZ-M8-855/S E
uh | S 1 | 3 = = = E = |Q5/08-FBN12-30
e L < A-DIN 975 M12-120 2 Q5/01B-400 A-DIN 934 M12 ADIN 125-A2 M12 = 5
e 1 - - - - - - A5/08-M8-80S/S -
&' B - = = - = - A-Q5/08-12x110CE
| | 1| | o AS/D8-VM 250-M12-160-A4  Q5/01B-400 = = . =
3 ¥ = = 5 = = AS/08-HAZ-MB-855/A4 -
1| Z 5 g = S = A4-Q5/06-12x110CE

45



Black ELOX

ALUMINIUM  satin

eleJelEB) FIX series

-.PLATE

ALUMINIUM  satin

F

<

A24/0005-...

;!.I-_I.IIINII..H satin

gray
black

PVC

IKA| [ES
\hed| fe ’ AN

glass t

---ur(lll A Y

INFRAPRCIEKT 5.8

RISE

120.4

@

60.5

S 7. ] -

L, 483

250

s 10x D4 125
- AL/ODDS-D.. S-E
AL/0005-D. Drain AL,."OO();D...S—EB
S 4
. A/0005-5-E...Drain built in drain
AL/0005-D-1250-5-E 1250
AL/0005-D-2500-S-E 2500 -
ELOX AL/O005-D-5000-S-E 2666
AL/0005-D-5000-S-E-Drain 125 2 5kN 12,00- 21,52 v v |
AL/0005-D-6000-S-E 6000
Elox AL/0005-D-2500-S-EB 2500 =
black  a) /0005-D-5000-S-EB 5000
.ANGLE
alope
angle
clox  AL/0034-005D-SEPLATE | o frei/
AL/0034-005-D-S-E o |
ELOX black AL/0034-005-D-S-EB o
ELOX  AL/0034-005-D-S-E-ANGLE < a5
AL/O0OS-... /.
AL/0005-007
A24/0005-007
ELOX AL/0005-007 2
A24/0005-007 25 30
A24/0005-007-BLACK Mnew AL/0005...

ALUMINIUM  =atin

46

ELOX

AL/0005-D-S-E-90-IN

ELOX black AL/0005-D-S-EB-90-IN

I : ELOX
|Aun|muu satin

AL/0005-D-S-E-90-0UT

ELOX black AL/0005-D-S-EB-90-OUT



12

12,76

16,76

17,52

20,76

21,52

Rubber

0005-D | &S

25 A19/0004-012-02.5
5 A19/0004-012-05.0
6 A19/0004-012-06.0

25 A19/0004-012-25.0

25 A19/0004-013-02.5
5 A19/0004-013-05.0
6 A19/0004-013-06.0

25 A19/0004-013-25.0

25 A19/0004-017-02.5
5 A19/0004-017-05.0
6 A19/0004-017-06.0

25 A19/0004-017-25.0

25 A19/0004-018-02.5
5 A19/0004-018-05.0
6 A19/0004-018-06.0

25 A19/0004-018-25.0

25 A19/0004-021-02.5

A19/0004-021-05.0
A19/0004-021-06.0

25 A19/0004-021-25.0

25 A19/0004-022-02.5
5 A19/0004-022-05.0
6 A19/0004-022-06.0

25 A19/0004-022-25.0

PVC-P - interier EPDM - extarier
A19/0004-F-G-02.5 25
(orey. A19/0004-F-G-05.0 5
A19/0004-F-G-25.0 25
A19/0004-F-B-02.5 25 12-21,52
black A19/0004-F-B-05.0 5
==z A19/0004-F-B-06.0 6
A19/0004-F-B-25.0 25
L J
AL/0044-2500-5-E 2500
ELOX AL/0044-5000-S-E 5000
AL/0044-6000-5-E 6000
£lox AL/0044-2500-S-EB 2500
black  AL/0044-5000-S-EB 5000

M FIX-SET

A19/0004-F-B...
(black)

A

A19/0004-L-ECO

A19/0004-rubber...
(black)

A19/0004-plazt...

(4pcs/m) (4pcs/m)
£ _-"i ‘
PVC-P - intarior EPDM - axtarior
A19/0004-17-18-G-02.5 25
tiﬁﬁg’n A19/0004-17-18-G-05.0 5 16,76-17,52
A19/0004-17-18-G-25.0 25
A19/0004rubber12-13-02.5 25
A19/0004-rubber12-13-05.0 5
A19/0004 rubber12-13-06.0 g 15781452
A19/0004-rubber12-13-25.0 25
RUbber A19/0004rubber17-18-02.5 25
black A19/0004-rubber 17-18-05.0 _ caiie
(stere A19/0004-rubber17-18-06.0 6 Tl
A19/0004rubber17-18-25.0 25
A19/0004rubber21-22-02.5 25
A19/0004rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g enre2led
A19/0004-rubber21-22-25.0 25

122

#

A/6920-005

AL/0005-D...

You




ELOX
black

art.

A19/ glass-shp

Finish

Quality

black A19/0004-D-B-100

L glass t

100 12-21,52

art. compat L
AL/OOO5-8-E-1250-Drain  AL/0005-D-1250-S-E .
] AL/0005-D-2500-5 £

. AL/0005-D-5000-SE
AL/0005-S-E-2500-Drain A /0005.D0-6000-S-E peo
. AL/0005-D-2500-S-EB
AL/0005-S-E8-2500-Drain 40002 D 25003 ER

forglasst (12-21,52)
for slope angle (< 45°)

i!
CHE|

q
un
o
o
o
S
=

- AS/08-VHG-MS-1

00/A4  Q5/01B-400

CHEM. ANCHOR M. CHEM. ANCHOR FASTENERS
(5pes/m) (1pcs/2,5m) (5pes/m) (5pes/m)
A5/08-105x11xM8 - Qs5/01B400 - -
- - - - Q5/08-12-125
- _Q5/08VHGMS-100/S  Q5/01B-400 W-DIN 7991 MBx20-P -
= = = Q5/08-FH12-50
A5/08-105x11xM8 - Qs/01B400 - -
- - - - As5/08-12-125
WHDIN 7991-A4 M8x20-P -

AS/08-HAZMS-BOSK/A4



POWDER COATING RAL

(for profiles, handrails and various components)




50

(o[elo}sll F|X series

AL/0009-2500-S-E
AL/0009-5000-S-E

MINIUM satin = ELOX  AL/0038-004-S-E

:\

A24/0005-...

AN MNLWE

ps .
gray
black

1 | ELOX AL/0005-007

A24/0005-007
A24/0005-007-BLACK

STATIC STUDIO @

e
glass t
L
w0 o
al S
o
o)
~0
60 L1 150
2500 50
3kN 21,52-25,52
5000 100
AL/0005-007
A24/0005-007
25 30
new Al/0008

ALUMINIUM  zatin

ELOX  AL/0009-S-E-90-IN

ALUMINIUM =atin  ELOX AL/0009-S-E-90-OUT



_ (o[elo}sll FIX series

25 A19/0004-012-02.5
_21‘52: 5 A19/0004-012-05.0
25 A19/0004-012-25.0
25 A19/0008-026-02.5
: 2.5‘5_2 5 A19/0008-026-05.0
o 25 A19/0008-026-25.0
A19/0004-F-B... | A19/0004-rubber...
\‘ (black) A19/0008-rubber...
(black)
PVC-P - interier EPDM - axterier .
A19/0004-F-G-02.5 25 N
(e, A19/0004-F-G-05.0 5 A19/0004-L-ECO A19/0004-plast...
A19/0004-F-G-25.0 25 (4pecs/m) A19/0008-plast...
Rubber A19/0004-F-B-02.5 25 1221 52 (4pcs/m)
black A19/0004-F-B-05.0 5
(ext=rier) | A19/0004-F-B-06.0 6
A19/0004-F-B-25.0 25
PVC-P - interier EPDM - sxteriar
A19/0004-17-18-G-02.5 2,5 Rubber black A19/0004-D-B-100 100 12-2152
ﬁgfr“?z’n A19/0004-17-18-G-05.0 5 16,76-17.52 =
A19/0004-17-18-G-25.0 25

A19/0004-rubber12-13-02.5 2.5
A19/0004-rubber12-13-05.0

@

A19/0004-rubber12-13-06.0 12:7643,52
A19/0004+rubber12-13250 25
Rubber A19/0004-+rubber17-1802.5 25

black A19/0004rubber17-18050 5

{exere) A19/0004-rubber17-18-06.0 6 il
A19/0004-rubberi7-18250 25
A19/0004+ubber21-22-02.5 25
A19/0004-rubber21-22-05.0
A19/0004rubber21-22.060 5 20762152
A19/0004-+rubber21-22:25.0 25

uality Fin art. I for glass t (12-21,52)
PETG gray A19/glass-stop for slope angle (< 459) ..~ANGLE

b I |

C€ CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
= (5pcs/m) (1pcs/2,5m) (Spcs/m) {Spcs/m)

AS/08-105x11xM8 ) Qs5/01B-400 - -
L - - B = 2 : Q5/08-12-125
v - Qs/08VHGM12-125/S  Q5/018-400 DIN 7991 M12x30-Zn E
_ - - - - 05/08-FH12-50
| A5/08-105x11xM8 - 'Q5/01B-400 - ———
_ 2 - T _ - _ A5/0B-12-125
v 5 AS/0BVHGM12-125/A4  Q5/01B-400 A4DIN 7991 M12x30 E
= = £ = AS/08-HAZME-80SK/A4

51



(olokkB FIX series
- AbP %&%L’E STATIC STUDIO @

ey
GERLIET

45
glass t
E
.
o
[
e Tol
-
6/
2 7
Black ELOX 5 g
AL/0011-1250-N-E 1250
clox AL/0011-2500-N-E 2500 50
ALUMINIUM - oclecinilelt i S 5000 . 100 3kN 12-21,52
AL/0011-6000-N-E 6000 s
cLox AL/0011-2500-N-EB 2500 50
black Al /0011-5000-N-EB 5000 100
14,4
. i

202

..PLATE --ANGLE

@ L i
clope
angle

flox AL/O034-011-SEPLATE | o Mew I AL/0045-2500-5-E 2500

T . AL/0034-011-5-E | o ! : ELOX AL/0045-5000-5-E 5000
| thde  AL/0034-011-S-EB | o ALUMINIUM satin AL/0045-6000-5-E 6000 | foEW

ELOX  AL/0034-011-S-E-ANGLE | - 45° cLox AL/0045-2500-S-EB 2500 |

black Al /0045-5000-S-EB 5000 |

satin | ELOX AL/OO11-N-E-QOIN | _ Ly S3tin | ELOX AL/OOTI-N-E-90-0UT
ALUMINIUM - 'ALUMIN —
| o ELOX : ELOX
FLOX AL/0O11-N-EB-90-IN L 0% AL/0011-N-EB-90-OUT

52



12,76

16,76

17.62

20,76

21,52

Rubber

o[eh kB FIX series

b

25 A19/0004-012-02.5
5 A19/0004-012-05.0
5] A19/0004-012-06.0
25 A19/0004-012-25.0
2.5 A19/0004-013-02.5
a A19/0004-013-05.0
5] A19/0004-013-06.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
5 A19/0004-017-05.0
5] A19/0004-017-06.0
25 A19/0004-017-25.0
25 A19/0004-018-02.5
5 A19/0004-018-05.0
5] A19/0004-018-06.0
25 A19/0004-018-25.0
2:5 A19/0004-021-02.5
o A19/0004-021-05.0
5] A19/0004-021-06.0
25 A19/0004-021-25.0
25 A19/0004-022-02.5
5 A19/0004-022-05.0
(5] A19/0004-022-06.0
25 A19/0004-022-25.0
[
PVC-P - interier EPDM - extariar
A19/0004-F-G-02.5 25
Jray  A19/0004-F-G-05.0 5
A19/0004-F-G-25.0 25
A19/0004-F-B-02.5 25 122152
black A19/0004F-B-05.0 5
(exterier) 7 19/0004-F-B-06.0 6
A19/0004-F-B-25.0 25
black A19/0004-D-B-100 100 12-21,52

|

M FIX-SET

) \ A19/0004-rubber...
A1 s;;,?aoc?:}t-F-s... / s
-
< A19/0004-plat...
A19/0004-LECO (apiesim)
{4pcs/m)
PVC-P - interier EPDM - axterier
A19/0004-17-18-G-02.5 25
3y A19/0004-17-18-G-05.0 5  16,76-17.52
A19/0004-17-18-G-25.0 25
A19/0004-rubber12-13-02.5 25
A19/0004-rubber12-13-05.0 5
A19/0004-rubber12-13-06.0 g 1561852
A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
biack A19/0004-rubber17-18-05.0 5
fexeie) A19/0004-rubber17-18-06.0 g 15761452
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g 20v62Es2
A19/0004-rubber21-22-25.0 25

- I
—

! | -
I 8 Y
CHEM. ANCHOR ~ CHEM. CHEM. ANCHOR FASTENERS
(Spcs/m) {1pcs/2,5m) (5pes/m) (Spes/m)
A-DIN 975 M12-120 - Qs5/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 - - |
- - - - - Q5/08-M8-805/8 -
- - - - - - Q5/06-12x110CE
= Qs5/08-VM 250-M12-160 Q5/01B-400 - - - -
- - - - - Q5/08-HAZ-M8-855/5 D |
- - - - - - Q5/08FBEN12-30
| A-DIN 975 M12-120 = Q5/01B-400 A-DIN 934 M12 A-DIN 125-A2 M12 - -
{14 - z Z z a = A5/08-M8-80S/8 z
o | - - - - - - A-Q5/06-12x110CE
3 = AS/08VM 250-M12-160-A4 Q5/01B-400 - - - -
v = = T T

- A5/08-HAZ-MB-B5S/A4 - _
- 1OCE

53




- ooshEN[eZIN FLEX/FIX series

P28

C8A
>
&/

<l

ELOX AL/0011-LIGHT-S000-N-E 5000

AL/0011-LIGHT-6000-N-E 8000

AL/0034-011.. .ANGLE AL/0035-011.. ..PLATE

| - - alope
- ¢ angle

AL/0034-011-LIGHT-S-E-PLATE  © |m

e ) AL/0034-011-LIGHT-S-E o | Aew
ALUMINI ELOX |

AL | =tin AL/0034-011-LIGHT-S-E-ANG -.45»%4-\46!0

AL/0035-011-LIGHT-S-E o | el

ALUMINIUM satin = ELOX AL/OO11-LIGHT-N-E-90-IN Mew

L1

AL/0011-LIGHT-2500-N-E 2500 50

200

BJ

05kN 127,52  Dbuiltin
drain

.
\‘ " 25
-~ \l’is

PR el A14/0005-pin | foeiW/

o4
3
61.5
AL/0048-2500-5-E 2500 | JAEM/
ALUMINIUM satin  ELOX AL/0048-5000-S-E 5000 | JAEW
AL/0048-6000-S-E 6000 | M/

ALUMINIUM satin ~ ELOX AL/OO11-LIGHT-N-E-90-OUT  fa.eil/



e[ohkEN(el-IM FLEX series

+#11°
T +1.1°
25 A19/FLEX1-012-SET-02.5
1= 5 A19/FLEX1-012-SET-05.0
6 A19/FLEX1-012-SET-06.0
25 A19/FLEX1-013-SET-02.5
1276 5 A19/FLEX1-013-SET-05.0
6 A19/FLEX1-013-SET-06.0
25 A19/FLEX1-014-SET-02.5 ~
1382 4 - A19/FLEX1-014-SET-05.0
' 6 A19/FLEX1-014-SET-06.0 o
25 A19/FLEX1-017-SET-02.5
1876 5 A19/FLEX1-017-SET-05.0
6 A19/FLEX1-017-SET-06.0 ?
25 A19/FLEX1-018-SET-02.5 ~
782 5 A19/FLEX1-018-SET-05.0
6 A19/FLEX1-018-SET-06.0 foaenl
& &
iéjjck‘f %%:_:59 A19/FLEX1...
Q8/70-275PRO  275mm 1/4"
Rubber black A19/0004-D-B-100 100 12-21,52

=
AL/glass-mont-PRO =

AL/glass-mont-PRO FLEX/FIX

3 '
'T E A b ® : ‘

CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
(Spes/m) (1pcs/2,5m) (5pcs/m) (Spas/m)

| A-DIN 975 M12-120 . Q5/01B-400 ADING34M12  A-DIN 125-A2 M12 = =

5 B z E - Q5/08-M8-808/S E

- z E = 2 £ Q5/06-12x110CE |
E : 05/08-VM 250-M12-160 Q5/01B-400 . . [ -
0] z = 2 = = 05/08-HAZ-M8-855/S =
- | . B - : z [ = 05/08-FEN12-30
g A-DIN 975 M12-120 - Qs/01B-400 ADING34M12  A-DIN 125-A2 M12 - -
2 5 X z 5 Z AS/08-M8-80S/S E
3 - y - - - - A-Q5/06-12x110CE
< = AS/08-VM 250-M12-180-A4  (5/018-400 - i e B =

= 5 z = = AS/0BHAZMB-855/A4 =

2 E 5 2 2 z A4-Q5/06-12x110CE

55



56

e[oRRE (Y F| EX/FIX series

'ﬁ"a‘

GLASS ~

AL/0011-ProXL-2500-N-E 2500
ALUMINIUM 2 01218 ELOX AL /0011-ProXL-5000-N-E 5000
AL/0011-ProXL-6000-N-E 6000

: AL/0011-PRO-S-E-1250-Drai 1250

ALUMINIUM catin = ELO!
AL/0011-PRO-S-E-2500-Drai 2500
...PLATE AL/0035 AL/0034 AL/0035 AL/0034
..ANGLE ..ANGLE

slope

‘ AL/0034-011-ProXL-S-E-PLATE |
AL/0034-011-ProXL-S-E | o
|ALUMINIUM =atin = ELOX AL/0034-011-ProXL-S-E-ANGLE |-«
‘ AL/0035-011-ProXL-5-E 0
AL/0035-011-ProXL-S-E-ANGLE | - 15

5

%MINIM satin = ELOX AL/0011-ProXL-N-E-90-IN

lass T
!
% 6}(@6
o~ - - - - - \!‘; -
- L1 200
4 \\ . (R @3
& 3 Naw?
o N @14
ks \ @28
0: A r'T‘-s
50 AL/0011-PRO. . Drain
okN  16,76-31,52 b;‘“_"‘ v +11°
100 rain

gy
o3
&
70
hew AL/0046-2500-SE 2500 |
ALUMINIUM satin  ELOX AL/O046-5000-S-E 5000 |
AL/0046-6000-S-E 6000 | FreM/

ELOX AL/0011-ProXL-N-E-90-OUT

ALUMINIUM  satin



e[eRRES(Y(M F| EX/FIX series

& 'T"-q
25 A19/FLEX2-017-SET-02.5
i T A19/FLEX2-017-SET-05.0
6 A19/FLEX2-017-SET-06.0
25 A19/FLEX2-018-SET-02.5
o2 A19/FLEX2-018-SET-05.0
A19/FLEX2-018-SET-06.0
25 ) A19/FLEX2-021-SET-02.5
20716 g A19/FLEX2-021-SET-05.0
A19/FLEX2-021-SET-06.0
25 A19/FLEX2-022-SET-02.5
2182 6 A19/FLEX2-022-SET-05.0
6 A19/FLEX2-022-SET-06.0
2476 25 A19/FIX2-25-SET-02.5
i 5 A19/FIX2-25-SET-05.0
6 A19/FIX2-25-SET-06.0
25 A19/FIX2-26-SET-02.5 A19/ELEX2-.
2552 5  A19/FIX2-26-SET-05.0 -
' 6 A19/FIX2-26-SET-06.0
4150 25 A19/FIX2-32.SET-02.5
5 A19/FIX2-32-SET-05.0
6 A19/FIX2-32-SET-06.0
Q8/70-275-PRO  275mm 1/4"
'Rubber black A19/0004D-B-100 100 12-21,52

b

31"

AL/glass-mont-PRO

Q9/03-0,2x9

AL/glass-mont-PRO FLEX/FIX AL/0011-PRO. .Drain

| h‘ — .
! U
C€ CHEM. ANCHOR CHEM. CHEM. ANCHOR FASTENERS MECH ANCHOR
_ (5pcs/m) (1pcs/2,5m) (5pcs/m) (5pcs/m)
= A-DIN 975 M12-120 z Q5/01B-400 ADING34M12  A-DIN 125-A2 M12 = =
17| - 5 E E - E Q5/08-M8-805/S z
- - - - - - - Q5/08-12x110CE
~ 2 - 05/08-VM 250-M12-160 Q5/01B-400 . 5 = .
o il _ = - 5 = Q5/08-HAZ-M8-855/S :
* - | _ - - - _ - - | § - Q5/08-FEN12-30
g —— 5 A-DIN 975 M12-120 - Q5/01B-400 ADIN934M12  A-DIN 125-A2 M12 z :
o — 17| - - - - - - AS/08-M8-80S/S -
J B _ - - - - - = A-05/06-12x110CE
< — % A5/08-VM 250-M12-160-A4 Q5,/01B-400 g 3 5 =
19 ¥ - - - - - AS/08-HAZ-MB-855/A4 =
2 2 . e = < = A4-Q5/06-12x110CE

57



58

FIX

U
I8

AL/0004-...

AL/0008-...

AL/000G-...

1250
2500
5000
6000
2500
5000
1250
2500
5000
6000

50

100

50

100

S50

100

)

rz AL/glass-mont-pro
|

Q9/03-0,2x9

L

200




== =

AL/0005-...

AL/0009-...

AL/0011-...

1250
2500
5000
6000
2500
5000
1250
2500
5000
6000

250
125

150
50

200
100

for Q5/08-FH12-50

Flease refer fo the
respective certificates
or your sales represen-
tative for specifications
such as mounting detail
or glass dimensions

CUTTING SERVICE
@ 600 mm saw blade




60

ouT

[m] [>]

AL/0004-LIGHT...

AL/0004-PRO...
AL/0008-ProXL...

AL/0011-LIGHT...
AL/0011-PRO...

2500

5000

2500

5000

6000

2500

5000

50

100

50

100

50

100



/AL/ glass-mont-pro

for Q5/08-FH12-50
Please refer to the
2500 S0 respective certificates
AL/000B-UNO or your sales represen-
= tative for specifications
5000 100 such as mounting detail
or glass dimensions
2500 S0
AL/0018... 90*
|
S000 100 15 45
r 1
2500 S0
AL/0019...
[ F
eo—/ S000 100 CUTTING SERVICE
) 600 mm saw blade

You E'E!

&




\' AL/ZVR100-2500-006

j AL/ZVR100-2500-004

Eﬁ AL/ZVR100-2500-004-ECO 1000 2500 16,76 VSG/ESG e/ ? AL/ZVR100-2500-006-ECO 1000 2500 16,76 VSG/ESG e/
\B AL/ZVR100-2500-004-LIGHT MU Q AL/ZVR100-2500-006-UNO Mnew
/
h
‘\l AL/ZBR100-2500-005 ‘ ‘ AL/ZBR100-2500-011
—_— 1000 2500 16,76 VSG/ESG | 1000 2500 16,76 VSG/ESG |
e

5 ‘E AL/ZBR100-2500-005-UNO AL/ZBR100-2500-011 -LIGHT Mnew

81752 =]
e g 57
| K
W77
ik 1 bosaiyrmes

C ty f I art
[ M5X20 (INCLUDED) 8-8.76
M satin A/O0742-SET M5X25 (INCLUDED) 101276 | EW W A A
3 e —f—

MS5X30 (NCLUDED)  13,52-17,52 min. émm max. 20mm




ALUMINIUM RAILING SETS (2,5m) - PRICE COMPARISON




Glass balust

(for glass t=16,

I

1

fields
3X=18-60mm

76 mm,

E
v

o5
- 0
03
Y O
Lo
>
=t

-fields
5X=30-100mm

X [6-20mm)

X [£-20mm)]

N

X [6-20mm

glass length b (mm) alternative
500 600 700 800 825 850 875 900 925 950 975 1000 1100 1200 1300 1400 1500 |
2
1 1
2
1 1
2
1 1
2
1 1
1 1
2
1 1
2
1 1
2
1 1
2
2 1
2 1
1 =
1
7
2 1
2 1
2 1
2 1
2 1
3 §
— 1 —
1
7
— N s | | s ] S S—
— IS SIS G S .
2 )
2 1
— P _— S a
2 . 1
3
2 1
j— 3
2 1
3
2 1
2 2l
2 1
1 2
1 2
3
i 2
2 1
4
2 2
2 2 4xB25
2 2 2x825+2x850
2 2 4x850
2 2
e 2 4xB75
L b — 2 Sos sl
4
2 2
T 2
—— = —— 2 =
2 2
2 2
— I | S — S, 4
e 2
4
2 2
2 2
2 _ 2
2 2
2 2
2 2
2 L S
2 2 4x1100
2 2
2 2
2 ; 2
2 2
2 2
2 2
2 . 2 N
i 2 2 4x1200
2 2
2 2
2 2 2x1200+2x1300




GLASS... VSG ESG

12,

AL PROFILE S

GLASS -VSG ESG

Quality art. t a b ‘ Quality art. t a
GS/12.76-100x60-VSG/ESG 800 GS/12,76-110x60-VSG/ESG 600 |
|GS/12,76-100x70-VSG/ESG 700 |GS/12,76-110x70-VSG/ESG 700
GS/12,76-100x80-VSG/ESG 800 | GS/12,76-110x80-VSG/ESG 800
as/12,76-100x00vsG/EsG 70 7% goo- as/1276-110:90vsa/Esa 0 1190 goc
GS/12,76-100x95-VSG/ESG 950 GS/12,76-110x95VSG/ESG 950 |
|GS/12,76-100x100-VSG/ESG 1000 | GS/12,76-110x100-VSG/ESG 1000 |
GLASS -VSG ESG | 18,7
Quality art. t a art. t a b Quality art. t a b
(GS/16,76-100x40-VSG/ESG GS/16,76-110x40-VSG/ESG 400  GS/16,76-120x40-VSG/ESG 400
i : 500 E 500
GS/16,76-100x60-VSG/ESG GS/16,76-110x60-VSG/ESG 600 GS/16,76-120x60-VSG/ESG 500
GS/16,76-100x70-VSG/ESG GS/16,76-110x70-VSG/ESG 700 GS/16,76-120x70-VSG/ESG 700 |
GS/16,76-100x80-VSG/ESG GS/16,76-110x80-VSG/ESG 800 GS/16,76-120xB0-VSG/ESG 800
GS/16,76-100x82,5-VSG/ESG GS/16,76-110x82,5VSG/ESG 825 GS/16,76-120x82,5-VSG/ESG 825 |
GS/16,76-100x85VSG/ESG GS/16,76-110x85-VSG/ESG 850 GS/16,76-120x85VSG/ESG - 850
|GS/16,76-100x87 5VSG/ESG GS/16,76-110x87, 5VSG/ESG 875 | (R /B (GS/16,76-120x87,5-VSG/ESG 875
|GS/16,76-100x90-VSG/ESG 676 1000 GS/16,76-110x90-VSG/ESG S 300 o GS/16,76-120x90-VSG/ESG 1676 1200 300
GS/16,76-100x92 5-VSG/ESG GS/16,76-110x92,5VSG/ESG 925 | [l GS/16,76-120x92, 5-VSG/ESG 995
| GS/16,76-100x95-VSG/ESG GS/16,76-110x95-VSG/ESG 950 ~© GS/16,76-120x95VSG/ESG 950
| GS/16,76-100x97 5-VSG/ESG G8/16,76-110x97 5-VSG/ESG 975 GS/16,76-120x97 5-VSG/ESG 975
GS/16,76-100x100-VSG/ESG GS/16,76-110x100-VSG/ESG 1000 GS/16,76-120x100-VSG/ESG 1000 |
GS/16,76-110x100-VSG/ESG GS/16,76-110x110-VSG/ESG 1100 GS/16,76-120x110-VSG/ESG 1100
| GS/16,76-120x100-VSG/ESG 'GS/16,76-120x110-VSG/ESG 1200 GS/16,76-120x120-VSG/ESG 1200
o i AN . ESG 1300 | GS/16,76-120x130 VSG/ESG 1300
GS/16,76-100x140-VSG/ESG GS/16,76-110x140-VSG/ESG 1400 GS/16,76-120x140-VSG/ESG 1400 |
GS/16,76-100x150-VSG/ESG GS/16,76-110x150-VSG/ESG 1500 GS/16,76-120x150-VSG/ESG 1500
GLASS -VSG ESG COLOR GLASS
Quality art. t a b
' GSU/17,52-110x80-VSG/ESG
GSU/17,52-110x82, 5VSG/ESG
GSU/17,52-110x85VSG/ESG
GSU/17,52-110x87 ,5-VSG/ESG
UlTRa _GSU/17,52-110x90-VSG/ESG
| cLean GSU/17,52-110x92 5-VSG/ESG E
GSU/17,52-110x95-VSG/ESG
VSG/ - T
ESG/ GSU/17,52-110x97,5-VSG/ESG j o520 _
g.8.4 0SU/17.52-110x100-VSG/ESG
7 GSU/17,52-110x110-VSG/ESG
GSU/17,52-110x120-VSG/ESG
GSU/17,52-110x130-VSG/ESG Suant e T 5 B
GSU/17,52-110x140-VSG/ESG y :
GSU/17,52-110x150-VSG/ESG _ GS/COLOR-ATYP info@umakov.sk | A/
t
2
VSG 4.4.2 5.5.2 6.6.2 6.6.4 8.8.2 8.8.4 1010.2 10104 t1 ] t
Glass
1 2x4 2x5 2x6 2x6 2x8 2x8 2x10 2x10
t2 0,76 0,76 0,76 1,52 0,76 1,52 0,76 1,52
t 8,76 10,76 12,76 13,52 16,76 17,52 20,76 21,52
Glass FLOAT, ESG
t1 (mm) 3 4 5 6 8 10 12 15
T?"‘-”"ie 0.2 0,2 0,2 0,2 0,3 0,3 0,3 0,5
Weight
(Ig/mZ) 7,5 10 12,5 15 20 25 30 3?,5

65






ROUND MODELS

FLEX1
FLEX2
FLEX3
FIX

SQUARE MODELS

FLEX
FIX

DOUBLE ADAPTERS
GLASS

SETS




L
- L o
2 .1 L1 GIA
/// 7 Yo
7 Z 7
b o /
= A
7 P
A /
Ao // A
/////>
Z = tE
: //// =k
e / 1
L
7 ////// ////// N
~,
Z 1
// // // ////
SR
MOUNT system A //// MOUNT system B
Pid
ROUND MODEL [ty art. @ MxL glasst* L L1 L2 T
A/0746-FLEX1-B 30 M8x40 6-12,76 40 19,5- 26,2 20,5-137 0+
FLEX1 A A/0742-FLEX1 40 M10x45 8-17,52 45 21,5-31 23,5-139 0+
A/O747-FLEX1-B S m10x130 8-17,52 130 27-36,6 103-93,4 0+
A A/O747-FLEX2 L M10x125 8-17,52 125 615 835 634 334 -
A/0747-501 FLEX2 s0 M10x40 8-17,52 40 16,2-257 9,9-0,3 =
FLEX2
B A/0747-502 FLEX2 50 M10x40 817,52 40 16,2-25.7 9,9-0,3 -
A/0747-503 FLEX2 50 M10x40 817,52 40 16,2-257 9,9-0,3 -
A/O742-FLEX3 M10x40 817,52 40 12,6-221 9,9-0,3 .
FLEX3 B
A/O747-FLEX3 M10x40 817,52 40 17,1-266 10,9-13 -
A/0746-000 M8x40 6-12,76 40 24-307 16-9,2 .
A/0746-300 M8x80 612,76 80 41-47.7 39-32,2 .
A/0746-400 M8x80 6-12,76 80 51-577 20-222 =
A/0746-500 M8x100 6-12,76 100 61-67,7 29-32,2 .
A/0746-033 M8x50 6-12,76 40 24-307 16-9,2 z
A/0746-042 M8x40 6-12,76 40 24-307 16-9,2 .
" A/0742-000 M10x100 8-17,52 100 20-295 80-70,4 =
A/0742-042 M10x40 817,52 40 20-295 20-104 .
37-465 63-53,4
A/O742-FIX M10x100 8-17,52 100 50-59)5 50-40/4 =
§0-69'5 40-304
A/0747-000-S M8x45 817,52 45 25-345 20-10,4 .
FIX A
A/0747-000 M10x45 8-17.52 45 25-345 20-10,4 -
A/0747-200 M10x70 8-17,52 70 37-465 33-23.4 -
A/0747-300 M10x70 8-17.52 70 47-56.5 23-13.4 -
A/0747-400 M10x90 817,52 %0 57-66,5 33-234 -
A/0747-500 M10x90 8-17.52 90 67-765 23-13.4 =
A/0747-242 M10x50 817,52 50 25-345 25-15,4 -
A/0749-000 M10x100 8-17.52 100 23-325 77-67.4 =
A/0749-042 M10x100 8-17,52 100 20-295 80-70,4
A/0748-000 M10x45 8-17,52 45 25-345 20-10,4 £
A/0748-242 M10x40 817,52 40 25-345 15-54 -
SQUARE MODEL art. A M glasst L L1 L2 T
FLEX1 A A/0745-300-FLEX1 M10x100 817,52 100 42-515 58-48.4 -
A/0745-300 40x40 N VETFSL.1 8-17.52 100 42-515 58-48,4 -
FIX A
A/0745-500 40x40 I VSTSL1 8-17,52 100 62-715 38-28.4 <

“For ATYP GLASS > 17,52, please use appropriate screw MxL (info : info@umakov.sk)



OPTIONAL A19/47-PVC
BLACK PLASTIC DISC
{0, 7MM THICKNESS)

[¢fF—mw |

OPTIONAL A19/47-FVC —_—
BLACK PLASTIC DISC

{0, 7MM THICKNESS)
/ 1 -2 <] 4
i d:h E L!I

FLEX2

OPTIONAL A19/47-FVC
BLACK PLASTIC DISC

/ (0, 7MiM THICKNESS)

FLEX3-742

INGLUDED A19/47-PVC
BLACK PLASTIC DISC
{0, 7MM THICKNESS)

FLEX3-747

69



70

| 1840
—~—
N &
N

a

4

. ///

m oatin|| fiat  A/O74GFLEX1-B 612,76 15

R

m satin flat  A/O742-FLEX1 8-17,52 20

141 0130

m catin | flat A/O747-FLEX1-B 817,52 20



—o—>
- i 38-58 i Gloss t
= e ///TH
b, , E {/{//// E (4]
. = ////f M
s o
i Ml =] &
1 : 1K sl 8
//// o w (1
70000 ==
7 = R
/ 7, .
. VL
: /0747-FLEX2
e _:{mmxom? FLEX2
: PVD black flat 817,52 20
polish * _A-PVD/O747-FLEX2-L
satin - A14/0747-FLEX2
Glass t
~INL S8
=1
- A/OT747-501 FLEX2
RAL 9005 A-BL/0747-501 FLEX2 42-47
PVD black A-PVD/0747-501 FLEX2
flat - 817,52 30
= A/OT747-502 FLEX2 32.37
RAL 7016 A-AN/O747-502 FLEX2
= A/OT4T7-503 FLEX2 52-57
FLEX3
<~ o>
7 42-50 Glass t 21
// r — | |
7 '
//7/ M = o
A A= g S
'I'//_/ N 2 ] = S
£ 77 \
7
m catin | flat  A/O742-FLEX3 817,52 22
]
DISC @ g~
A/0747-FLEX3 Ea'-m'z'n"‘j
flat  A14/0747-FLEX3 817,52 30 50
polish A14/0747-FLEX3-L

71



FIX

: A/0742-000 40
saﬁ ﬂ t —— A e o
M " " momsoo0 60

PVD black
RAL 9005
RAL 7016

: flat
polish

flat

72

A/0747-000-S
A/0747-000
A-PVD/0747-000
A-BL/0747-000
A-AN/0747-000
A/0747-000-L

' A14/0747-000

 A14/0747-000-5

- ZN/0747-000

A/0748-000

18,5

18

50

70

8-17.52

MBx45

M10x45

MEx45

M10x45

A/0746-000

A14/0746-000
ZN/0746-000
A/0746-300
A/0746-400
A/0746-500

15

32
42
52

M8Bx40

M8xB80

MEx100

8-17,52

6-12,76

20

15

10x100

fulxl

Glass t

g
RAL LINE
UMAKOWV|
4



FIX

-

&
17
50

i
NE
A/0747-200 22
A/0747-300 zp MO0
=atin  flat  A/0747-400 12 o 8752 20
A/0747-500 52
A14/0747-300 32 M10x70
10 Glass t
o >
wy
& ol a
'-E h=t
70 \
i A
AT,
Y A
Yy //' //5
— A/0763-000 30 612,76
o AIO764000 40 847,52 e
e A14/0763-000 30 612,76
A14/0764-000 40 817,52
>
g 27(40)(50) . . Glasst
= [
3 |
S S v of =+
—— ¢ = 3|
T — = i=]
77
A o
yy ./ /' o
77
% //. 7 Y.
s
EEEY] =atin | fa  A/O742FIX 817,52 22

73



FIX

MxL

33.7 A/O746-033 13
AISI304

MEx50
A/0746-042 612,76 15
I 15 M8x40
AISI316 A14/0746-042
10 Glass t
5 ¥ ;
H HS
o] ¥ s
M =
- Y 2| ¢
g Sy
b4
o ;
= <
o A
m satin | 42,4 A/0742-042 817,52 22
10 Glass
| ;
o &,
g G=:
1 — — N =l .
i = I I 1=
.
Pl &_
A/O747-242 50 M10x45
AISI304 . -
_ | satin | 424 A/0748-242 70 M10x80 817,52 20
AISI316 A14/0747-242 50  M10x45

10 Glass

Wi10x100

EEE] =atin | 424 A/0749-042

8-17,52 20



FIX

B = =
=1 =1
L&
12,5
m satin || A/0746-plate
8
3
Jrr
- o
= Q)
(=] -
s oz 8|
% 7

A/0747-plate A/0742-plate

" ajo7a2plate 40 387
satin it
A/0747-plate 50 487

@13
o1
i
0

AL 2
3
‘ black A19/46-Black
Rubber : : A/O746-...
| white  A19/46-White
=N
_ b
o =
= o i
= =
E‘K
300

m =atin | A/5736-242-M10

o

sios BT

AISI304 B=C

A19/47-Black

black
Rubber

white

PVC black

satin

« )
o "y =)
= = =
8 - 8
.
7
A/0746-front
19
11
=
/ o TP R
o A8
| j
15
 A/O74Tdront 10
_ A/0747-5-front 8 |
oS 1 O
A19/47-1-White &1 —
sglath
A19/47-Black 17 10,5 14
A/O747-...
A19/47-1-Black 25 14,5 22
A19/42-Black 38 6 185 _ 2 145 A/0742-.
A19/47-White 7 14
A19/47-1-White 48 % . 22 A/O747-..
A19/47-PVC s 07 -
L ’//'
D
o P
33,7x2 A/33,7x2-22-000 -
o A/42,4x2-22-000
% 424x2  A/42,4x2-35-000 35
A/42,4x2-45-000 45
33,7x2  A/33,7x2-22-042
42,4 22

42 4x2  A/42,4x2-22-042

75




x Glass t
8 s =32
=} 7 //./ = : ﬁ
= }
i _ lln] =
[ N s| &
17
77
/ 2
74 I
ISERE] satin | flat | A/O745-300-FLEX1 817,52 18
FIX
o h Glass t
(=]
=
2 P ﬁ
E N =] $
L\ ¥ 5]

A/0745-D30

A/0746-...

= 8-17,52 18

10

L

-
o
1) é -t %
[isizos BNV E- R
16,76
1000

1000

*1321;2 225 l925 4075 E£2s
150
| | °‘T92,5 s
GS/16,76-98x100-VSG/ESG 980
|GS/16.76-133x100VSG/ESG 1330 4
| GS/16,76-108x100-VSG/ESG 1080 .

=

——-q%}

GS/16,76-143x100-VSG/ESG 1430

76




X 50 §-17,52

|
]
.!.
040

200
150

101
42
EEE] =atin  A/2740-000 18
50 8-17,52
1l 3
N U S
11
e | 8|8
0 il
20
EEEL =atin | A/2747-000 20
D 10
/_3\ -1
@11
-
EEE
2%
-
&[ ]
i | A/2746:000 plate T10mm 40 190 8
S0 /2747000 plate T10mm 50 200 10
8-13,52
O~
g %
i
. FEy
3
o~ o
g f<'s] [re)
M i
— ™
)
o o~
('\"j__ —
50 32

PYEESE] =atin | A14/3000-000 18

L



Sy

|RAL

)

UMAKOV



ROUND MODELS
FIX

ELIPSE MODELS
FLEX

SQUARE MODELS
FIX

POST MODELS
FIX

GLASSES + SETS



FIX @

@48 GLASS

% A/6100-000-B

182

'
Embedding uy
DIN 7991 M8 P

| e i T

AlSI304 -
RAL9005 A-BL/6100-000-B Mew

A14/6100-000-B 0,5kN 3 121752
AlSI316

polish - A14/6100-000-B-L : 12,76/16,76

S.5.2205

satin A22/6100-000-B new
ot
A A
?

360 9l e
~ o
> == . +l
| ®86 I‘ b

@100 .

G
PRI rometco oo

@50

@103

AISI304 A/0512-050

satin 7 y
A14/0512-050 RAL
INGEGES L CLC | RAL 9005 A-BL/0512-050 Mew

AlSI316



| Fix ©]

50 50
GLASSt | |
v T T 1
S /’
b |
If \
X ! o
" ’
g i i _OE | |
|/ - & 9
o e — - “x._‘_‘_‘ |
w Embedding 42
DiN 7001 M ™
| | | |
A14/6210-000 .../6200-000-C mH! 7=22)
o0 . | |
! - A/6200-000-C
AlSI304 RAL 9005 A-BL/6200-000-C Mew
RAL 7016 A-AN/6200-000-C 0.5k 5 Mew
A14/6200-000-C ’ 12-17,52
AlSIz1e A14/6200-000-C-L
: A14/6210-000 Hew
g A22/6200-000-C 0,okN 2
TKN 3
50 50

GLASS t

™
ﬁ/

T
ge.7a: ET

-
Ede)
Farmm—n
=

@424
. : — : 12,76/16,76
RPNl =atin | A22/6230-000 - - 1217.52 AW SRR
[m]
e —
ST T =
=
o105
satin A14/4511-050-B
AISI316 [N A14/4511-050-B-L 51,5 ‘?AL

il RAL9005 A14-BL/4511-050-B Mnew

81



i &?"ﬁgﬁgﬁﬁl

GLASS 1
@12
| @12
el
a4
uwy
~0
~0
bt
(&) {2 -
o
. o
< N - ‘ ‘ 40 35 .
< .—’. 1 1 |
_‘_._:-"' [ ! YA ! !
[} 00
m satin | A/6200-0008 05kN 3 124752 15 /16,76 24
-Ji‘
Gumakay
45 a0
GLASSt|
. ﬁ
‘ g %

Bl
[

o ||, 0103

A14/6220-014 12,0135

AlSI316 A14/6220-018 0,25kN* 3

16,0-17,5
el

* for use only with anchored cap rail

+1,5° @
GLASS t :

)

VAN

g
i
2
____ati___G/F (Ped/m Glasst 9%
AlSI304 A/6501-000 012 [l 108
78

Alsizie [REETT - A14/6501-000 et 3
: : OSKN 2 1e782152 e 120 ﬁ
5.5.2205 A22/6501-000 FRAL]

AISI304 | ;.- | RAL9005 A-BL/6501-000



MOBER X

8-17,52
@ 42,4 2

10

150

325

135

17,5

@105

Quality  Finish

art. Glass Glazs hole

A14/6300-000 GS/16,76-... 20

8§-17,52
040

040

32

150

P16
135

325

096

Quality  Finish art. Glass Glass hole

A/6400-040 GS/16,76-... 20

‘GLASS... VSG ESG

a2 225
1 5DE
L | “‘tsz,s
Quality art. a glas= hole:g
G5/16,76-98x100-VSG/ESG 980 i
GS/1B,76—133X100—VSG}ESG 1330 —
GS5/16,76-108x100-VSG/ESG 1080 ' -

GS/16,76-143x100-VSG/ESG 1430 -

8-17,52
040

i
32}

Ol

™

S —

T T
0%6
Quality  Finish art. Glass Glass hole
A/6400-040-plate GS/16,76-... 20

83

)
!—
(@)
9
a
)




Faculty of Civil
Enginoaring

} 1

art. G/h glass t

GS/FRB8-120x100-6100-6 O ,SkN 16,76 VSG/ESG

Faculty of Civil
Engineering

231200

A22/6200-000-C

art. G/h glazs t

GS/FRB-103x120-6200 0,5kN 16,76 VSG/ESG |

* handrail is not mclude_d_but it is recommended in this SET.

Faoulty of Civil
Enginoaring

2x1200

A22/6200-000-C

art. G/h glasst

GS/FRB8-120x100-6200-6 1kN 16,76 VSG/ESG

84



.{H art. G/h glass t ‘

GS/FRB8-120x100-6501-6 1kN 16,76 VSG/ESG !MW

GS/FRB-120x100-6501 0,5kN 186,76 VSG/ESG‘W

Faculty of Civil
Engineering

Foculty af Civil
Enginaring




s

Black ELOX




- Railee=lq SET WITHOUT GLASS L pizalord @ SET WITHOUT GLASS

Effect art | Quality Finish Effect art.
ELOX  GS/FRB10-100-BK-N-E = ELOX  GS/FRB10-100-ZK-N-E ik
ELOX black GS/FRB10-100-BK-N-EB ELOX black GS/FRB10-100-ZK-N-EB Aew
ELOX  GS/FRB10-110BKNE ELOX  GS/FRB10-110ZKNE ew
ELOX black GS/FRB10-110-BK-N-EB 10,76 ELOX black GS/FRB10-110-ZK-N-EB 10,76- Mew
RAL7021 GS/FRB10-110-BK-R7021 sz 1100 RAL7021 GS/FRB10-110-ZK-R7021 2152 100 | o oy
'RAL 9005 GS/FRB10-110-BK-R9005 RAL 9005 GS/FRB10-110-ZK-R9005 mew
ELOX GS/FRB10-120-BK-N-E ELOX  GS/FRB10-120-ZK-N-E Mew
ELOX black GS/FRB10-120-BK-N-EB 1200 ELOX black GS/FRB10-120-ZK-N-EB 1200 Mew

1

I 144414

[Quantity|  1xpar | ixpar |  1xpar  3xpair

16
LY o
’L
% %
= Rasi=3[eB=1d SET WITH GLASS ems s MEsiERleA e SET WITH GLASS
1000
3
»
-
CAP REPLACEMENT SET CAP REPLACEMENT SET
GS/FRE10-BK-CAP-N-E L GS/FRB10-ZK-CAP-N-E
) ~—— CAP REPLACEMENT SET CAP REPLACEMENT SET
. { GS/FRE10-BK-CAP-N-EB . . { GS/FRE10-ZK-CAP-N-EE
Quality Finish Effect art. C L Effect art Glasst L
RAL 5005 GS/FRE10-100x100-BK-R9005 1278 1000 ELOX  GS/FRB10-100x100-ZK-N-E 1000 e
GS/FRE10-110x100-BK-R9005 ' 1100 RAL 7021 GS.:’FI’B10—‘I10)(1(X)—ZK—R?O21 12,76 1100 e
RAL9005 GS/FRB10-110x100-ZK-RI005 new

£






ROUND MODELS
LED

SQUARE MODELS

CAP RAIL RUBBERS

CAP RAIL FITTINGS
END CAPS



1.5

M~
N| R i
24
P42.4
A/6925-042-1250 1250
A/6925-042 2500
—atin A/6920-042 5000 -'-?:l'.v,;._{Z«
A/6921-042 6000
e A14/6920-042 5000
polish A14/6920-042-L 5000
4

‘ ©42,4x1.,5 ‘

A/6732-042
satin
A14/6732-042

A/6313-042
A14/6313-042

LSRR satink A14/6303-042

90

EPDM - extarier

PVIC-P - intariar

A19/5042-08-2500
A19/5042-08-5000
A19/5042-08-6000
A19/5042-11-2500
A19/5042-11-5000
A19/5042-11-6000
Rubber Plack a49/5042 162500
A19/5042-16-5000
A19/5042-16-6000
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000
| A19/5042-21-6000
Rubber  gray A19/5042.G-16-2500
| interier | (int=rier)  A19/5042-G-16-5000

=

(exterier)

A/6790-042

8,0-11,0

10-12,76

16,0-17.5

20,76-21,52

16,0-17.5

N
ﬂ
! t
24
22 S
25 45
21,5 4.2
24 3.5
21,5 4.2

2500
5000
6000
2500
5000
6000
2500
5000
6000
30000
2500
5000
6000
2500
5000

P 42,4x1,5

A14/6790-042
30
Al F
PT o
h=1
=
[
o
30
TG
_ _\ 3
| (7 g
3




Finish

Quality
 A/6302-042
 A14/6302-042

Finish

I Quality

A/6312-042
' A14/6312-042

art.

A14/6505-042

Quality

| Quality  Finisi art.

A14/6727-042

30

D 42,4x1.5

@ 42,4x1,5

P55

P 4z.4x1.5

o

91



92

ALUMINIUM =i

-

ALUMINIUM

ALUMINIUM  =atin

=atin

L

1.5

ALUMINIUM

D 42,4x2

ELOX black AL/6313-042-S-EB HL€W/

M~
s
A4
@424
ELOX AL/6925-042-S-E
3000
ELOX black AL/6925-042-5-EB
ELOX AL/6920-042-S-E
6000
ELOX black AL/6920-042-5-EB
17
o) ~0
- =t
a =
ELOX AL/6732-042-S-E
ELOX black AL/6732-042-S-EB FueM/
33,8
|
@
(2]
L]
|
ELOX AL/6313-042-S-E

EPDM - aextarier

black

{exterier)

Rubber

" Rubber gray

interier

(interier)

ALUMINIUM

satin

satin

Black ELOX

o =
\_“ —
. 9
=1 1 [ o
24
PVC-P - interier
A19/5042-08-2500 2500
A19/5042-08-5000 8.0-11,0 20 5 5000
A19/5042-08-6000 6000
A19/5042-11-2500 2500
A19/5042-11-5000 10-12,76 25 4,5 5000
A19/5042-11-6000 6000
A19/5042-16-2500 2500
A19/5042-16-5000 5000
A19/5042-16-6000 16,0-17.5 215 %2 6000
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000  20.78-2152 24 3,5 5000
A19/5042-21-6000 6000
A19/5042-G-16-2500 2500
A19/5042-G-16-5000 16,0-17.5 2k &2 5000
23
o™
>
=T
" ™
-
2
ELOX AL/6790-042-S-E
ELOXblack AL/6790-042-S-EB FL&l/
30
W3]
=
e
= =
o)

ELOX AL/6505-042-5-E
ELOX black AL/6505-042-S-EB &/







A/6920-048
_ A/6925-048
‘satin
A14/6920-048

A14/6925-048

ﬂ m satin | A/6732-048

5000
2500
5000
2500

EEER =atin ase313-048

m =atin | A/6505-048

94

1,5

27

30

42,6

@ 48,3

30

EPDM - extarier

A19/5048-15-5000

%

27

15,0-17.,5

Rubber black  a19/5048-22-2500 200205
A19/5048-26-5000 24 76-25 52

(exterier)

EEEZ] =atin  A/6790-048

%

@ 48,3x1.5

\+l

@100

xPsS

30

30

5000
2500
5000




m satin A/6920-080 5000

WB/6925-042-17
-5 WD/6925-042-17
WD/6925-042-17-CINK

20

EPDM - extarier
black
Rubber (exterier)
Rubber gray
interier (interier)

24

PVC-P - intariar

A19/5042-08-2500
A19/5042-08-5000 8,0-11,0 22
A19/5042-08-6000

A19/5042-11-2500

A19/5042-11-5000 11.5-13.5 25
A19/5042-11-6000 )
A19/5042-16-2500
A19/5042-16-5000
A19/5042-16-6000
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000  2( 78-21.52 24
A19/5042-21-6000
A19/5042-G-16-2500
A19/5042-G-16-5000

16,0-17.,5 215

18,0175 215

4.5

4.2

3.5

4.2

37.5

17

D 42,4

2500

(

Q9/03-3x12 Q5/05TR-310

2500
5000
6000
2500
5000
6000
2500
5000
6000
30000
2500
5000
6000
2500
5000




©
£
H
S ! [ ©
= i S
o 4 b
f— — 24
24
| 40 | EPDM - exterier
| 1 A19/5042-08-2500 2500
| A19/5042-08-5000 8.0-11.0 22 5 5000
A/6925-040 2500 | | A19/5042-08-6000 6000
| | =l
A/6920-040 5000 . A19/5042-11-2500 Tenn
| | A19/5042-11-5000 11,5-13,5 25 45 5000
A/6921-040 6000 | | A19/5042-11-6000 6000
—— Rubber = black  a19/5042-16-2500 2500
AlSI316 A14/6920-040 5000 | I A19/5042-16-5000 5000
| A19/5042-16-6000  19.0-17.5 215 42 o0,
| A19/5042-16-30000 30000
| | A19/5042-21-2500 2500
| | A19/5042-21-5000 20762152 24 3,5 5000
i_ i A19/5042-21-6000 6000
Rubber | gray A19/5042.G-16-2500 2500
|interier | meren  A19/5042-G-16-5000 100175 215 42 40,
4 6
~ -~
« 1)
3 §
=1 54
=T g
A/6732-040 A/6790-040
satin satin
A14/6732-040 A14/6790-040
30 30
—
A1 - 4
J/m— & _He |
¢ %1 ¢
Q Q =
& =
| I ! |
1 &
T &
A/6313-040
zatin
A14/6313-040
a0
/ —
"y .
e hE
. 3
=t
3
o N T T
71 "
/ 2 [ ]
J A 8 _
3
F -+

SRS  zatin | A14/6302-040 CITEREN  satin| A14/6312-040

96



73,5

g5

(NSRS =atin  A14/6505-040

50x40x2/AL

L

—
2
® 9
cloy PL/B925-540.SE 3000
: AL/6920-540-SE 6000
/ALUMINIUM  =atin
| AL/6925-540-S-EB 3000
ELOX black
AL/6920-540-S-EB 6000
65
o
fad
:
| ; ELOX  AL/6732-540-5-E
/ALUMINIUM  satin 50x40x2
ELOX black AL/6732-540-5-EB mew

o4
&
F— X
3
o
o4
]
L[|
T
. ELOX AL/6313-540-S-E
ALUMINIUM  satin S0x40x2
ELOX black AL/6313-540-S-EB Mew

28

Black ELOX

-

- 24

PVC-P - intariar

EPDM - extarier

A19/5042-08-2500
A19/5042-08-5000
A19/5042-08-6000
A19/5042-11-2500
A19/5042-11-5000
A19/5042-11-6000
A19/5042-16-2500
A19/5042-16-5000
A19/5042-16-6000
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000
A19/5042-21-6000
A19/5042-G-16-2500
A19/5042-G-16-5000

8,0-11,0 22

11,5135 25

black

{exterier)

Rubber

16,0-17.5 21,5

20,76-21,52 24

Rubber
interier

gray

(interier} 16,0-17.5 21.5

9.5

1T

4.5

4,2

3,5

4,2

Fod \/;X ol A
o
£
Q
=T
£
B
T
. ELOX  AL/6790-540-S-E
ALUMINIUM  satin 50x40x2
ELOX black AL/6790-540-S-EB Mew

0 .

2500
5000
6000
2500
5000
6000
2500
5000
6000
30000
2500
5000
6000
2500
5000

ELOX  AL/6505-540-S-E
ELOX black AL/6505-540-S-EB

S0x40x2

ALUMINIUM  satin

hew




A/6920-640
A/6925-640
A14/6920-640

AlISI316

A14/6925-640

LIRRLR  satin A14/6732-640

\‘\"\'- l“‘“- _— St
M satin  A14/6313-640
40x40/WOQOD

WB/6925-040-17
WD/6925-040-17

|
=
-
2 : : 0
=t : -
o4 P, -
24
24 EPDM - exterier PVC-P - intarier
60
A19/5042-08-2500 2500
A19/5042-08-5000 80110 29 5 5000
5000 A19/5042-08-6000 6000
A19/5042-11-2500 2500
2500 A19/5042-11-5000 {15135 25 45 5000
A19/5042-11-6000 6000
so09 Rubber | Plack p49/5042.16-2500 2500
| {exterier)
5260 A19/5042-16-5000 5000
A19/5042-166000  16.0-17.5 215 42 450,
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20762152 24 35 5000
_ A19/5042-21-6000 6000
Rubber A19/5042-G-16-2500 5500
Rubb gray
interier | (meien A19/5042.G-165000 6.0-17.5 215 42 o0,
6
_ - 1.1
0
d1 K =
=
5
~0
At : -
m satin | A14/6790-640
3s
“
N 3
S ¢
~0
w
©) r
1
)_
ﬂ}
’ © Emmm_————
& \NEUTRO 2B
M
Q9/03-3x12 Q5/05TR-310
17 —
40
2500

60x40x1.5







18x12x2

™~
R
‘H-\""'-\. M
T 18
AL/6901-014-3000-5-E 3000
- ELOX 12
ALUMINIUM  =atin AL/6901-014-6000-5-E s
- 6000
ELOX  AL/6901-014-6000-S-EB
™~
R
s
U o~
18
ELOX AL/6901-014-GOO-S-E -
ALUMINIUM  satin R 200 4350
b AL/6901-014-GO0-S-EB '
22x9x2
2 /-"'__'_"'-‘.—q:'
_.-:I—_—‘ ©
21,4
- AL/6901-017-3000-S-E 3000
ALUMINIUM =atin | ELOX 16,76

100

AL/6901-017-6000-S-E 6000

hew

Black ELOX

Q9/03-3x12

EUTRO [TR- 1 9

Q5/05TR-310

"

'!.E!;T“_ng 4y

Q5/05TR-310




22x16x2

]
e |

Black ELOX

NeoTeoTa

H"‘-ﬁ:_, 0Q9/03-3x12 Q5/05TR-310
A/6901-018-2500 2500
3
A/6901-018-5000 5000
" A/6901-A-018-2500 2500
5
iy A/6901-A-018-5000 5000 (1%,
AL/6901-018-3000-S-E 3000 Lo~
ELOX L
ALUMINIUM AL/6901-018-6000-5-E 1
' ' L ox 6000
ELOX Al /6901-018-6000-S-EB
R3 o~ R3 o~
|
~ T
= i 5 : I el
— | L)
' !
22 .22 |
= . BT = aecoroscar 200 teirse | e
. cafin | ELOX AL/6901-018-GOOSE 200 161752 AAEW
ALUMINIUM Lo
FLOX  AL/6901-018-G90-S-EB
dx10x1
1o =
o E
0 TR
Q9/03-3x12 Q5/05TR-310
A/6902-014-2500 135 175 13,52
A/6902-018-2500 2500 17,5 215 1752
A/6902-022-2500 215 255 2152
zatin
A/6902-014-5000 135 175 1352
A/6902-018-5000 5000 175 215 1752
A/6902-022-5000 215 255 2152




Black ELOX

R1 &

A
© NEUTRO M! 44

I—A—I Q9/03-3x12 Q5/05TR-310

20

AL/6901-022-3000-S-E 3000
ELOX
ALUMINIUM  satin AL/6901-022-6000-5-E 20-21,52
' 6000
ELOX  AL/6901-022-6000-S-EB

R -

20

26

ELOX AL/6901-022-G90-S-E
ALUMINIUM  =atin 200 202152 e

ELOX AL/6901-022-G90-S-EB
o
8 T a
v 24

28

28x26x2

EPDM - axteriar PVIC-P - intarisr

A19/5042-08-2500 2500
R g A19/5042-08-5000  80.11.0 00 5 5000
00:0 A19/5042-08-6000 6000
A/6900-024-2500-EXCLUSIVE 2500 35 A19/5042-11-2500 2500
~_ A/6900-A-024-2500 5 A19/5042-11-5000 115135 25 45 5000
=N /6900-024-5000 et 3 A1 o0 JLE00) 6000
Rubber black  a19/5042 16-2500 2500
A/6900-024-5000-EXCLUSIVE 5000 3,5 A19/5042-16-5000 5000
A/6900-A-024-5000 5 A19/5042-166000  18.0-17.5 215 42 00
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20762152 24 3,5 5000
| | A19/5042-21-6000 6000
Rubber A19/5042-G-16-2500 2500

L o gray
interier Gmerie A19/5042.G165000 0:0-17.5 215 42 0

(o]
R3 R3 N
~0
~0
™ o~

.28 | 28

200 824 ] AeW m satin  A/6900-024-CAP 200 8-24




\ =
n [ p
24
EPDM - sxtarier PVC-P - inferisr
L 24 |
A19/5042-08-2500 2500
A19/5042-08-5000 8.0-11,0 29 5 5000
A19/5042-08-6000 6000
P AL/6902-024-3000-5-E 3000 A19/5042-11-2500 2500
- satin | ELOX 82152 e A19/5042-11-5000 11.5-13.5 o5 45 5000
AL/6902-024-6000-S-E 6000 A19/5042-11-6000 5000
Rubber = Plack  a19/5042-16-2500 2500
A19/5042-16-5000 5000
A19/5042-16-6000 18,0-17.5 21,5 4.2 6000
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20 76-21,52 24 3,5 5000
_ _ A19/5042-21-6000 5000
Rubber A19/5042-G-16-2500 2500
: o4 gray
| interier | (interier)  A19/5042-G-16-5000 16,0-17.5 21,5 4.2 5000
m satin | A/6902-024-G90  AL/6902-024.. A/ m satin | A/6902-024-GOO  AL/6902-024.. A€/
ax6x1
R o g
) U b B
— [ - NEUTEO [ )
| a Q9/03-3x12 Q5/05TR-310
A/€903-014-6000 16,5 12-13,52 1,75
A/€903-018-6000 20,5 16-17,52
=atin 6000 new
A/6903-022-6000 245 20-21,52 2
A/6903-025-6000 285 24782552
R pe
~
| ~0 ~0
a
A/€6903-014-G90 16,5 12-13,52 1,73 A/€903-014-CAP 16,5 12-13,52 1,75
A/€6903-018-G20 20,5 16-17,52 A/€903-018-CAP 20,5 16-17,52
satin 200 e satin 200 Mnew
A/6903-022-G90 24,5 20-21,52 2 ~ A/6903-022-CAP 245 20-21,52 2
A/6903-025-G90 28,5 24,76-25,52 A/6903-025-CAP 28,5 24,76-25,52

103






LED HANDRAILS -
ROUND

LED HANDRAIL SETS -
ROUND

LED HANDRAIL SETS -
SQUARE



Black ELOX

@50

\ —
= i L
1 I: L O
— + [ t
"y 9 ’ g [
! ) L 24
g ;5:-
745 EPDM - extarier PVC-P - interier
. L] 4
A A19/5042-08-2500 2500
A19/5042-08-5000 8.0.11.0 22 5 5000
|- ELOX AL/6920-050-LED-S-E — / A19/5042-08-8000 6000
= satin | gox AL /a0 0s0IthE A19/5042-11-2500 2500
black A19/5042-11-5000 11,5135 25 45 5000
A19/5042-11-6000 6000
black
ks i
A19/5042-166000  16.0-17.5 215 42 o000
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000  20,76-21,52 24 3,5 5000
_ A19/5042-21-6000 6000
Rubber  gray A19/5042.G-16-2500 2500
interier (nterien  A19/5042.G165000 10.0-17.5 215 42 o h
28
17 20

‘ "i\ rrarrrrs P

@51
|
@54
|
!
@50

ELOX  AL/6732-050-LED-S-E ; ELOX  AL/€6790-050-LED-S-E
ALUMINIUM  satin ALUMINIUM  =atin
ELOX black AL/6732-050-LED-S-EB fA&il/ ELOX black AL/6790-050-LED-S-EB Ao/
51 a0
~0 - g
- ~ ) T8 7 2
‘ 8| & _
oy al | =
T T I
_-l____} _____ ]__
ELOX  AL/6313-050-LED-S-E : ELOX AL/6505-050-LED-S-E
ALUMINIUM  =atin ALUMINIUM  satin
ELOXblack AL/6313-050-LED-S-EB fL€il/ ELOX black AL/6505-050-LED-S-EB A€/

106



BVIOBEI iLED

%\

S000K -
Ou.‘.\ldv Finish Z art

A/G925042 |ED/24x24-24V YEM/2x075SET A14/4114-042ED A/6732-04
1x
u “ 42 4x15 A/6920-042-LED-2500 (2500"““} R 1x 3x 2x

//‘;?

"
g t L{m)
Quality Finish Color art. L axb 1P Lumen Power Voltage -@- : ! =
4 A YEM/2x0,75-5ET 0,75
o + B white S5000K LED/24x24-24V 25m 24 x 24 IP40/IP65* 120im/m 8W/m 24VDC v
* IPE5 using silicone end

art t b L |art. s |
1Q9/0302x@ 02 9 50 A/GLUESOSC 50 (Lo
1Q9/03-0,5x9

05 9 33

A/6732-042

\l'
'@‘

LED/24x24 A/GLUE...

*
) ;
3 =
-
-,
-

A14/4114-042-LED
(for mount on wall)

—— YEM/2x0,75-SET

107



42 4x1,5 A/6920-042-LED-5000-S1

- R
Z F« ~
¥
A/0112-000 A/6732-042
1x 5x 1x 4x 2x

Tk
(5000mm)  (5000mm)

5.3
= .
et el
&
23

Effect art. L |
AL/23x24-5000-LED-SET 5000 ‘

Material

20x 1x 1x

Quantity

B

5 :
43
@10 14
;Qﬁ ﬁdr_/_ <D- 3
——I—L—a wy
b4
Material Effect art. | | Quality  Finish art.
A14/PD-LED-23x24 PVC Black A19/PD-LED
fIfsZ0-nn2 A/6920-042
A-DIN 7380-A2 M5x12
A/6732-042

A/6732-042

/23x24-5000-
LED-SET

A14/PD-LED-23x24

" A14/0112-000-LED-B

A-DIN 7380-A2 M5x12

A19/PD-LED

A-DIN 7991-A5
M5x10

- Q9/03-0,2x9
4 AL/23x34.LED'SET
A14/0112-000-LED-B .7

108




[ Soune ]

- =
—
I S 1x 1x
q__“__.., AlISI304 saﬁn 40x40 A/6920-040-LED-5000-51 (5000mm) (5000mm) Sx Sx 2x
53 antit 20x 1x 1x
3
23
ALUMIN MAL{23:(24-5000-LED-5E|' 5000
Ce] ;*%
a
55 i
43
= @10 14
e | F e =
% : w
Q)PP | a
20

ATy I -1 0TE 1) A14/PD-LED-23x24 FvC Black A19/PD-LED H

A/6920-040 A/6920-040

~— ,/ =
e A-DIN 7380-A2 M5x12 ’

A/6732-040

A/6732-040

-

L/23x24-5000- A19/PD-LED

A14/PD-LED-23x24 LED-SET

. A-DIN 7991-A5
A/4111-000-LED M5x10

A

A-DIN 7380-A2 M5x12

-

AN

| \
| "
13
CRRRRN LT TRR
=

A/4111-000-LED

A
I

~_\ Q9/02-0,2x9
4 AL/23x34-LED-SET
DOLE S L

‘_fo
§

=

109



o 113
3 2 8
L=
g === ~/
- 5
v 75
A14/0112-000-LED-B A14/0112-000-LED-B
AlSI316 A14/0112-000-LED-B
INEEGES  catin - A/0112-000
AlSI316 A14/0112-000
44
3 _ " 24
= r-_-1
-— 5 | o3
- [ 2x®65
:
i X 6.5 n 10
] = >
- * S o2
(s - [z} | ) O
by {1y
s 7 =
- ®J _;_
T
@45 80
40

o

IEEEZY =t A/4111-000-LED

@iz

24

N

80.5

m catin || A/0710-242-LED

110

|
el '
3 ¥
=
k=
[ 4
44 24
e @
il "Vlill’ Ly
_ %D 6.5
D14
|
B 42,4x2

...0112-000







RN

. -

. Oy . G P A L S

E(

-

ing 4




GLASS CONNECTORS
ROUND MODELS

GLASS CONNECTORS
SQUARE MODELS

HANDRAIL HOLDERS
FOR GLASS



114

27 23 27 =
17 e
>l W <
| 19 9][]' j
107

Quality  Finizh art. ¥ Test
A19/04-PVC
1x Gdmin
| L _glhsst —
| ' 6 8 8,76 10 10,76 12 12,76
I A19/25-0086 A19/25-008 A19/25-008 A19/25-010 A19/25-011 A19/25-012 A19/25-013
)
% = &
R %
Quality  Finizh art. ¥ Test
A19/04-PVC
A14/2500-900 1x Gamin
[ | glass t
a 6 8 8,76 10 10,76 12 12,76
A19/25-0086 A19/25-008 A19/25-008 A19/25-010 A19/25-011 A19/25-012 A19/25-013

| 612,76




N

A-DIN 913-A2 M&x16 88,76
L ADIN 913-A2 MBXx20  10-12,76
satin | A/O746-SET 15 o3 aomexos  13,52.47.52

A-DIN 813-A2 MBx30  20,78-21,52

12,76-21,52 _[T—

@50

m _=satin A/0747-S-SET 20

(

§-17.52

STy

P40
&
AN

| RS

)

%

M5X20 (INCLUDED] 58,76
satin A/O742-SET  M5X25 (INCLUDED) 104276 | EW
MS5X30 (INCLUDED) 13,52-17 52

max. 20mm

115



@ satin  A14/230P-700 1x

AlISI316

l A19/23-PO6/K08

Gdamin
glass t
8 6,76 8 8,76 10
A19/23-PO6/K08  A19/23-PO7/K0S A19/23-P08/K10 A19/23-P09/K11  A19/23-P10/K12
plate t
1,5 2 3 4

5

A19/23-P1,5/K3,5 A18/23-P02/K04 A19/23-PO3/KO5 A19/23-P04/K06 A19/23-POS/KO7

satin  A14/230P-200

1x Gamin

glass t
6 6.76 8 8,76 10

A19/23-PO7/K0O9 Al 9/23—-f’08/K1O A19/23-PO8/K11

plate t

1,5 2 3 4

5

A19/23-P1,5/K3,5 A19/23-PO2/K04 A19/23-PO3/K05 A19/23-P04/K06 A19/23-POS/KO7

A19/23-P10/K12  A19/23-P11/K13

o
=}
19 175 | =
o
M1 o
1
14 l@lo___

10,76 12 12,76
A19/23P11/K13  A19/23P12 A19/23-P13
45 e

L]
27.5 B
15_| 175 9
o
ANE =
1
10)
10,76 12 12,76
A19/23P12 A19/23-P13

40x40

%

i ADIN 913-A2 M8x16 88,76
. A-DIN 913-A2 M8x20 10-12,76
satin  A/0745-SET 15 A-DIN 913-A2 M8x25 13,52-17,52

A-DIN 913-A2 MExI0 20,76-21,52




satin

AISI316

A14/0771-000

AISI316 BEE1T

A14/0773-000

satin

AISI316

AISI316 BREETT

A14/0772-000

A14/0774-000

48

J |
| 1
"
| 48
|| @
- T Pes
16,76 - 21,52
55
= 25
. !
f E
i ( — 3
©
©

16,76 - 21,52

& G&|
I I}
Al
2|
N il i
48 7 &)
103 §
16,76 - 21,52

-

[
x'r_
“"‘-——

16,76 - 21,52

]

14TE31

o

e I

A14/0771-015

A14/0773-015

A14/0772-015

A14/0774-015

24

1200-1500

12-15

12-15

1200- 1500

E

__Q__é____._. 2

a2

14

12-15

12.00- 15.00

12-15

REO0- 1500

117



118

m satin A/0155-000

AlSI304 A/0155-042-B
satin
AlSI316 A14/0155-042

m catin | A14/0155-048

26

63

ee—c——
2x®5,5f

@14

)

@50
D17

@50
@17

8-18
&
=]
=_L'l/
5 NN
K25
¢B:L‘ | .| 9
o
8-18 o
g ]
/
” NN

@50




FIX

m satin | A/0156-000 20

— b 24
o = e
] 2x D 6,5 Ik
8-18
— - \ &
[

@50

m satin A/0156-042 20

- l—-—-—l (Db‘%'} o4
— e e —r—
= ' [ T 2x®é,5
818
o @12 N "
1
[T
g 15 = \\ \_y
v 90

m satin  A/0156-048 20

119



Finine

) .

—

—

= WS-Edelstahl &

.
= Pflege-Spray §
TN iarvteg he e et okt Tt =
.':-_'. & ! Werterern bt mapym E
. T i s s St E
E om0 0 =
;.':.: P e i e e ey E
= D
Tg PRy et marter gy b E

— 1
CLEANER &

for stainless railings 500m|



i %

art M L art. M L
A-DIN 914-A2 M5x5 5 DIN 7991 M8x20-Zn ) 20
A-DIN 914-A2 M5x6 5 5
bl === DIN 7991 M12x30-Zn 30
AISI304 o A-DIN 914-A2 M5x8 8 12
natural T
O Aa M = P DIN 7991 M12x40-Zn 40 | ew
A-DIN 914-A2 M8x40 8 40 |PMheW A-DIN 7991-A2 M5x8 5 g8 | eW
AlSI316 A4-DIN 914 M5x5 5 5 A-DIN 7991-A2 M5x12 12
A-DIN 7991-A2 M5x16 5 16
4 A-DIN 7991-A2 M5x20 20
A-DIN 7991-A2 M6x8 8
' ' Lo A-DIN 7991-A2 Méx14 14
A-DIN 7991-A2 M6x16 16
- 6
Nuality nish : _ A-DIN 7991-A2 M6x20 20
- .
AISI304 e A-DIN 916-A2 M10x14 | T oy T .
AISIZ16 A4-DIN 916 M10x14 |
A-DIN 7991-A2 M6x60 80
AISI304 -
A-DIN 7991-A2 M8x12 12
A-DIN 7991-A2 M8x16 16
A-DIN 7991-A2 M8x30 30
A-DIN 7991-A2 M8x35 35
8
A-DIN 7991-A2 M8x50 50 | PEW
A-DIN 7991-A2 M8x70 70
A-DIN 7991-A2 M8x80 so | TheEW
M D A-DIN 7991-A2 M8x110 1o | ew
ADIN G238 VoM xS v A 21— | A-DIN 7991-A2 M10x35 10 35 | hew
PAEEGER C - F A-DIN 6334V M10x25-A2 10 13 | '
A-DIN 7991-A2 M12x16 12 16 | TeW
A-DIN 6334V M12x40-A2 12 40 | eW _
A4-DIN 7991 M5x8 8 | hew
5
A4-DIN 7991 M5x16 16
A4-DIN 7991 M6x14 14
6
A4-DIN 7991 M6x40 40
A4-DIN 7991 M8x20 20
AISI316 A4-DIN 7991 M8x30 30
A4-DIN 7991 M8x70 8 70
A4-DIN 7991 M8x100 100 | NEW
A4-DIN 7991 M8x120 120 | EW
art M L |
e = A4-DIN 7991 M10x20 10 20
A-DIN 913-A2 M6x10 2 A4-DIN 7991 M12x30 12 30
A-DIN 913-A2 Méx12 6 12
A-DIN 913-A2 M6x35 35 | ew
A-DIN 913-A2 M8x16 16
A-DIN 913-A2 M8x20 20
A-DIN 913-A2 M8x25 . 25
A-DIN 913-A2 M8x30 30
A-DIN 913-A2 M8x40 40
A-DIN 913-A2 M8x80 80
natural
A-DIN 913-A2 M10x12 12
A-DIN 913-A2 M10x35 10 35
A-DIN 913-A2 M10x100 100
A4-DIN 913 M5x5 5 |
A4-DIN 913 M5x10 s -
A4-DIN 913 Méx10
s R 6
AISIZ16 A4-DIN 913 M6x12
A4-DIN 913 M10x12 12
A4-DIN 913 M10x16 10 16
A4-DIN 913 M10x55 55

121



DIN 912 M6x20-Zn ] 20 'DIN 933 M10x30-Zn 10 30

new
g:: g}; :2:;3:: gg m EWAR-E S DIN 933 M12x80-Zn 12 e
DIN 912 M6x40-Zn 40 AeWw DIN 933 M16x80-Zn | 16
DIN 912 M6x50-Zn 8 50 6| mew TSRS ' | A4-DIN 933 M10x30 10 30
DIN 912 M6x80-Zn 60 ew
DIN 912 M6x70Zn 70 Anew
DIN 912 M6x80-Zn 80 e
DIN 912 M8x20-Zn 20 MW
DIN 912 M8x30-Zn _ 30 new
DIN 912 M8x40-Zn 40 e
DIN 912 M8x50-Zn 50 new
DIN 912 M8x60-Zn 8 "e0 8| mew
L: M8x70-Zn ] 70 new
DIN 912 M8x80-Zn 80 e
DIN 912 M8x90-Zn 90 hew
DIN 912 M10x20-Zn 20 | hew
DIN 912 M10x30-Zn 20 mew
DIN 912 M10x40-Zn 40 Mnew ,,/
DIN 912 M10x50-Zn 50 Mew /
DIN 912 M10x60-Zn 10 60 10| e ‘
912 M10x70-Zn 70 e
DIN 912 M10x80-Zn 80 Mew
DIN 912 M10x90-Zn .m0 ew
DIN 912 M10x100-Zn 100 e
DIN 912 M12x40-Zn 40 Mnew
DIN 912 M12x50-Zn 50 e e
DIN 912 M12x60-Zn 12 60 12| MeW e = ' vt
DIN 912 M12x70-Zn 70 ew ADIN 603-A2 M8x16 8 16
DIN 912 M12x80-Zn 80 Mew
ADIN 912-A2 M5x20 5 5|
ADIN 912-A2 M6x20 6 20 6 | heW
A-DIN 912-A2 M8x20
A-DIN 912-A2 M8x25 8 25 8 |hew
AISI304 ADIN9I2-A2M8x45 45 | e
Lo DSl A DIN 912-A2 M10x45 45 e
A-DIN 912-A2 M10x60 0 0 0 ew
_A-DIN 912-A2 M12x25 25
A-DIN 912-A2 M12x35 12 =5 12
AISI316 A4-DIN 7984 M8x12 g8 12 5 | hew

DIN 7380 M10x20-Zn 10 20 | RPN \w-DiN 7991 M8x20-P |
| ADIN 7380-A2 M5x12 5 o FYSESC] - W-DIN 7991-A4 M8x20P |
6

A-DIN 7380-A2 M6x12 =

steel 8.8

A-DIN 7380-A2 M8x10 10
. A-DIN 7380-A2 M8x12 . 12

A-DIN 7380-A2 M8x20 20

A-DIN 7380-A2 M8x35 35 | fnew

-1l A-DIN 7380-A2 M10x20 10

A-DIN 7380-A2 M12x20 12 2

A4-DIN 7380 M5x12 | 12

A4-DIN 7380 M5x16 = 16
AISI316 A4-DIN 7380 M6x12 6 12

A4-DIN 7380 M8x20

A4-DIN 7380 M10x20 10 2

i

AISI304 [ natural B BT LT g 25 Mew

122



PUSET PR iy SOL-TSS-530
SOL-TSS-540

d L
A-PH 5x20 20
A-PH 5x35 * 35
A-PH 6x45 45
jal nist 1 art d L
A-DIN 7505A 4,2x16 4.2 16
A-DIN 7505A 5x20 20
AlISI304 | natural o
A-DIN 7505A 5x35 5 as
A-DIN 7505A 5x45 45
| 9e2
2 |
Q - |
21,4
Quality Finish art. pack [pes]
H/O1PVC-FS 6
H/O1PVC-FSY. 4

| hew

art d L
A-DIN 7504K-A2 4,2x13 P
PYSELTr gy A-DIN 7504K-A2 4,216 151
DN A 2R S5 75
EONToA S RNy 6.9 16 |

JEEZANETEN ADIN 7981C-A2TX 42660 4.2 60 |

Finish art.
H/O1PVC-FS-AL

Quality

| e

LIRS = 1 E1H A-DIN 7982C-TX-A2 4,2x22 42 22

41§

hew




| -
_ - system
IESESCE  satin | A14/7604-005 3-5 cz

| system
M salm A14/7601-005 7 co

-
f.,”‘f
\Q:‘
oy
N __ £ ) . system
o A14/7350-003 6.5 6 12 8
AlSI316 satin c2,c3
A14/7350-005 95 10 20 97

A14/7333-M6
B 14 44 30 4 85
. A14/7333-M6 LEFT
=atin Cc3
A14/7333-M10
10 22 90 83 B 105

A14/7333-M10 LEFT

§iid

=7

Dl %,

n—
- "
A e -+ .‘| ™
d 3-Smm
A14/7604-005

24

\. d 4-Tmm

A14/7601-005

[




DIN 7980 M10-Zn
steel DIN 7980 M12-ZN

DIN 127 BM12

I o

D
M t d D_ uality M _;:uiate:t |
10 10 16| AW MK-M8 Zn 8 Yo 5 e
12 25 12 18 MEW MK-M10 Zn | 10 T | e
12 12 21| W
A19/04-PVC  A19/04-PVC-L  A19/04-PVC-BLACK
- ) A19/04-PVC
hew PVC  polish |A19/04-PVCL

black  A19/04-PVC-BLACK

=
@

® 0

A12/12-PVC A12/12-35-PVC

A12/12-PVC
PVC
A12/12-35-PVC

A12/12-35-PVC

125



AlISI304
natural

T

art. M t
DIN 934 M&-Zn 6 5
DIN 934 M8-Zn 8 6.5
DIN 934 M10-Zn 10 8
DIN 934 M12-Zn 12 10
A-DIN 934 M6 6 5
A-DIN 439B-A2 M8 4
A-DIN 934 M8 B 65
A-DIN 934 M10 10 8
A-DIN 934 M12 12 10
A-DIN 934 M16 16 13
A4-DIN 439B M8 8 4
_A4-DIN 934 M10 10 8

9

AISI304

: M i

DIN 1587 M6-Zn 6 12

'DIN 1587 M8-Zn 8 15
DIN 1587 M10-Zn 10 18

DIN 1587 M12-Zn 12 2

A-DIN 1587-A2 M6 & 12

'A-DIN 1587-A2 M8 8 15

=Ll A-DIN 1587-A2 M10 10 18
A-DIN 1587-A2 M12 12 20

10 18

AlISI316 A4-DIN 1587 M10

USRS ADIN 6923-A2 M8

126

g

AlSI304
natural

AlSI316

AISI304 | natural .A-DIN 562 M8

AlSI304 | natural

D d ¢t
DIN 125 M6-Zn 12 64 new
DIN 125 M8-Zn 16 84 "° MeW
DIN 125 M10-Zn 20 2 | ew
DIN 9021 M10-Zn 30 0% 55
DIN 9021 M12-Zn 37 13 new
DIN 9021 M16-Zn 50 17 °
DIN 125 M12-Zn 24 13 25 HEW
DIN 125 M16-Zn 30 17 3  hew
A-DIN 125-A2 M5 0 5 1
A-DIN 9021-A2 M8 30 _ 25
A-DIN 125-A2 M8 ® ° 16
A-DIN 125-A2 M10 20 10 2
A-DIN 125-A2 M12 24 2,5
A-DIN 433-A2 M12 20 2
A4-DIN 9021 M8 24 ga 2
A4-DIN 9021 M16 50 17 25 hew
t
g ¥ 1A
art. M s t
A-DIN 562 M6 10 32
13
A-DIN 562 M10 10 17 5
t
Ll
M ¢
A-DIN 917 M8 8 10
A-DIN 917 M10 10 12



sW

A-DIN 9210 M6x60-A2 g

DUSIEDER == A-DIN 7337-A2 4,8x20

Sisi304 A-DIN 9210 M8x60-A2 0= -
A-DIN 9210 M8x100-A2 100 42 48 /|
L~ 1=l A-DIN 9210 M10x100-A2 10 30 57 /|
A4-DIN 9210 M6x100 6 100 v
AISI316 A4-DIN 9210 M8x60 g 60 20 37 - |
A4-DIN 9210 M8x100 100 42 48

WooD/Me-D 8 A4-DUAL M6/M6 6
steel
woon/mo-n 10 65 30 30 v [MeEW

A4-DUAL M10/M10 10

i (v
M L | [ Quality Finish
A-FTT-MS § & 2 | NSRS -0 A14/08-WASHER
FTT- 8 14
AISI304 | natural oo i)
A-FTT-M8 8 16,5
A-FTT-M10 10 19

127



128

'Q5/08-M8-80S/S

: —— ) 80 11 22/75
Q5/08MB758K/S 75 22/ - medum W Q5/08HAZMB-85S/S 5 85 12 20/75
teel 05/08HAZMS8-8OSK/S 80  205/5 heawy Q5/08-M8-1208/8 20 11 29/75
Q5/08-FH12-50 s 12 pojeg ¥ heaw . 5/08 8 s
Q5/08-12-125 28 3 /58— heavy | TAEW Q5/08-HAZ-M10-106S/S 106 "
| : Q5/08-M10-1065/S 100
AlSI304 A5/08-12-125 125 22/58 - h new
INEEITH S0 1| A5/08HAZMBBOSK/AS 50 20; 7 | G208 MIN1208/5. 120 18 2985
- S5 c A5/08-MEXB0 o 10 20/75
A5/08-M8-80S/S
AlSI304 8 1 22T
|| A5/08M8-1208/ 120 22/7.5
£ © A5/08M10-708/S 10 70 14 25/83
AlSI316 AS{D&HAZ—MB—BSSH_M 8 85 12 20/75
A5/08-HAZM10-1068/A4 10 106 15 25/9.5
o
™,
Vid A\
I'l.’ , \Ill
[ — % | ®FL R
.\‘- e ! B 75
\ e ] yi\_ R
T 3
toS i I\ Q\\/
)
’ &
M
‘(G load | ’ r : M
AlSI304 A5/08-105x11xM8 - NA Q11/FPX-MS 8 J
natural steel | natural
AlSI316 A14/08-105x11xM8 - A Q11/FPX-M10 w0/

“ Q5/09-Quick-Fix QF5 — MN/A | steel 5.8 Q5/08-BS-S5-10-90/8 & & Vv
| 1
k-l -1 8 AS/08-BS-5-10-90/A4 v
steel 5.8 Q5/08-BS-5-12-110/8 v
1 12 10
Py -l E 1018 AS/0B-BS-8-12-110/A4 v

| @5/07-8 NYLON
gray Q5/07-10 NYLON
| Q5/07-12 NYLON

Q5/08-FAZIG-M10-70/8

AR 1) AS/O8-FAZIGM10-70/A4

BECE oo |

medium Mew
v heawy
= medium m
v heaw
v heawy
& medium M
o medium hew
- medium m
E medium M
= medium m
- medum LW
v heavy
v heawy
heavy
heawy




Mo L HlCE load | load
Q5/08-VM 250-M10-115 15V heaw A19/27-M8 8 1 - NA

10 -

140 15

UM SA0 MIE 1D ! 185/ heaw CEELEY T At19/27-M10 10 13 - NA
Q5/08-VM 250-M12-135 185V heaw - 1

12 - A19/27-M12 5 - NA
Q5/08-VM 250-M12-160 180 ¢ heawy 12130 15 /
A5/08-VM 250-M10-115-A4 M5V heaw
§ 10 - e |
A5/08-VM 250-M10-165-A4 185 v heaw

AlSI316 | natural |

A5/08-VM 250-M12-135-A4 135V heaw

12 -
A5/08-VM 250-M12-160-A4 160 v heaw

1 rf. r M L c€ lead
A-DlN 975-1587 M10x100 10 100 N/A SRS IERE 6 60 - heay |FAEW
Q5/06-8x100CE 8 92 - heay
Q5/06-10x120CE 10 120 - heaw
Q5/06-12x110CE i M0 - heaw JAEW
Q5/08FBN1230 " 198/ heaw
'Q5/06-16x123CE 1B 123 - heaw
Q5/06-16x138CE 16 138 - heay
A-Q5/06-8x90CE 8 90 - heay TEW
LEELEY ) A05/06-10x120CE 10 120 - heaw
A-Q5/06-12x110CE - heay AW
AlSIZ16 A4-Q5/06-12x110CE M0 | AW

’
load
FOINE 875 Mb-2n L 6 hew 05/08VIHGME-100/S 8 100 12 v heaw
DIN 975 M8-Zn 8 Hew k |
DIN 975 M10-Zn 10 hew S e o Y e
DIN 975 M12-Zn 121000 new
DIN 975 M16-Zn 16 hew Q5/08-VHGM12-125/8 12 12520 /  heay
A-DIN 975 Mé& 5]
A-DIN 975 M8 =:] A5/08-VHGMB-100/A4 8 100 12 ¢ heaw
A-DIN 975 M8-100 100 hew |
A-DIN 975 M8-120 g 120 e IEESEE - A5/08-VIHGM10-80/A4 10 80 18 ¢  heaw
A-DIN 975 M8-150 150 new | !
A-DIN 975M8-200 200 new A5/08VHGM12-125/A4 12 125 20 4 heaw
A-DIN 975 M10 10 1000 .
A-DIN 975 M10-100 100 w
AlSI304 Haturs) A-DIN 975 M10-120 10 120 M
A-DIN 975 M10-150 150 e
A-DIN 975 M10-200 200 hew
A-DIN 975 M12 12 1000
A-DIN 975 M12-100 100 new
_A-DIN 975 M12-120 1p 120 new
A-DIN 975 M12-150 150 new
A-DIN 975 M12-200 . 200 e
_ ADINO75SM16 16 . hew
AlSI316 A4-DIN 975 M10 10

129



AB/2xMB-TTx40

satin  AL/0792-3842

i it

14

)
O ® OF

1A18

20-160

h art

~ glass mount

H __ hew

- ' PLAS AL/0004.
Shag OSBOMASTIC 1424 40 N40580—PLASTIC-V2 AL Go0neco.
AL/DOD4-PRO...

130



FIX series

art.
AL/glass-mont-PRO Mew

| Quality Finish art.
PETG gray MP/excenter-mount MeWw

’ 6
'

( . @

i o o

art. glass t | art. total length ext. square E‘,’

AL/GLASS-HOLDER  1-70mm |Q8/70275PRO  275mm 1/4° Q

131



Full brick wall Insulation

Q10/Therm-M12/M12 12/12
ASELER S0 E 1 Q10/Therm-mini-M10/M8  10/8

Q10/Therm-M12/M16 12/16

Concrete wall Insulation
| I

Brick wall Insulation

PVC black A19/05-100

7

=

PVC  black MP/waterlevel e

132



CEELER E - Q10/ANGLE-0-3-60 Mew Sty

PNSEGES E N Q10/60-M16/M 10 Mew

+

[
1

ISR a10/aNGLE-0-2-100 | FAEW

133



Q5/01GF-300 Nordic Q5/01B-300 -10°C +40°C las/01GFP-300 .
. -20°C +10°C | - . - | o 9
Q5/01GF-400 Nordic . Q5/01B-400 vinylester 0040 | TVOW (o5 io1arpaop  Povester -5°C+a0C
Q5/01GF-300 M Q5/01B-400 Winter -20°C +20°C '
Q5/01GF-400
S WURTH
k4
Q5/04-250
Q5/05TR-310 Silicone  -5°C +40°C Q5/01-WIT-UH300... 320 Vi:;‘fég';e, 5°C +40°C Qs/04 17 215
Q5/04-250 8 250 | e
Q5/01-WIT-VM250... 300 vinylester -10°C +40°C g -
g
| \
A/spray-R7016 400 Repair spray Q5/03-50 S50ml, profi Q5/05-LOCTITE 50 epoxy adhesive
Q5/03-300 300ml, hobby Q5/03-400 400ml, profi Q5/01-16x130 mesh

134



-‘_‘-;-‘-""‘-—..
o |
|ag/03-02x@ 02 9 50‘
ot dazcrintion b L | @Q9/03-0,5x9 05 9 33 ‘
|@5/02 blow pump Q9/03-3x12 3 12 165 1Q9/03-2x6 2 6 16’554‘”

Ly

PSERTEEY £ 10/model741-8

Q1/B02-INOX  3-45 Pipe cutting Q1/BO2-INOX-RK Q1/BO2-INOX |

135



= i, 8.
V’ | - 4

Q/INOX-INSTALL-SET Q/INOX-INSTALL-SET-B Mnew

A

E=r=il
|Q/INOX-INSTALL-SET | 1% B - 1% 1x %
P T 1x 1x
| Q/INOX-INSTALL-SET-B . 1x 1% 2x 2x 2%
Rezny kotud
Cutting dise
LD
Se
Q1/Go1 360 Q1/RNO1-125x1 L. OA) Q1/L01-125-40
' |Q1/L01-125-60 : Mnew
Q1/RNO1-150x1.6 cutting disc I flap disc
mew Q1/L01-125-80
Q1/RNO1-230x2 Q1/L01-125-120
g
g
!
%
ew MW e
Q8/LP-7x4,5  rvetingpunch  Z2steps | Q8/LP-7x4,5-B riveting punch 1 step HSS-TiN A-DRILL-D4-20  metal  4-20

-
L)
o
: ’
B
_ [@sfes | & 4 3
ar Quality art M 3 5 35
! | a8 E 45
A-DRILL-M5 5 4 GEDHILENGOEN S 0 &S s
: - i nssg A/FDRILL-M6C 6 o —E T2 84
HSS-CO5 A-DRILL-MB 6 48 | A/FDRILL-MSC = %98 14 W
A-DRILL-M8 8 6.4 A/FDRILL-M10C | 10 013108

136



= 4
CA/ACTIVATOR CA/LAK
|CA/ACTIVATOR corten effect A/spray-WS 400 INOX |A/Cleaner-500ml 500 INOX
1000
| lacquer for
|CA/LAK corien | ‘IWEW
A/GLUE-577-30g A/GLUE-638-10g A/GLUE-638-50g m
g ga ' 18 dusiiption |
gl_A;GLUE-sw-sog_ 50 04 Nox Meu |A/ACTIVATOR-500ml 2. for A/Glue.. Jog/08  cing/diing 400
|A/GLUE-638-10g 10 (45. confans | el '
I - 2 activator
|A/GLUE-638-509 50 0.25
\
\

A/GLUE-403-20g  A/GLUE-20g
A/GLUE-10g-C 10 0.2 INOX A/GLUE-20g A/GLUE-50g-C 0,2 INOX

———___ 90 o2 dlpupose - 50

A/GLUE-403-20g kR |A/GLUE-50g-D 0.4 INOX

F 4 I
L]
e Hew e

Q5/05-MAMUT 280 instant fix GS/Cleaner-Glass 200 GS/Cleaner-Metal 200

137




PNL/GO04-23x15 AL/C004-PRO FG/SAMPLE-... Mew
PNL/G05-23x15 AL/000+LGHT | A&/
PNL/GO6-23x15 aL/000s-uno | HEW/
PNL/GO7-23x15 aL/000suno | A.EW/
PNL/GO8-23x15 AL/o01i-oraxt | A&l

REK-CASE-ALU REK-CASE-INOX3 REK-CASE-FG Mew REK-CASE-ALU-FLEX AW

GATE AUTOMATION

GATE SYSTEMS

ACCESSORIES

ALUMINUM
FENCE SYSTEMS

KAT-GATES 24-25 KAT-AUTIOMATIONS 25-26 KAT-SOLAR SYSTEMS 24-25

sl

FRAMELESS GLASS l SYSTEMS
RAILINGS ; —
POST RAILINGS

KAT-GLASS RAILINGS 24-25 KAT-POST RAILINGS 24-25 KAT-GLASS SYSTEMS 25-26

138






140

AISI304 AlSI316

$.8.2205

AlSI304

=

= B

AlSI316

* anly mirror finizh (polizhed)

AlSI304
nerezova stal rozsdamentes stainless
ocel nierdzewna acél steel Edelstan INOX
corten ocel corten stal corten acél corten steel Cortenstahl corten
hlinik aluminium aluminium aluminium Aluminium aluminium
zZliatina stop cynku i Zn+Al " | alliage
Zn+Al aluminium Gtvozet ZAMAG:  [Zmkdrickguss | i
Zelezo zelazo vas iron Eisen | fer
g zinok cynk cink zZinc | Zink zinc
25 |
E mosadz miedz sargaréz brass | Messing laiton
B | |
paolyvinyl chioride
polyethylene terephthalate glycol
T T
guma guma gumi rubber | Gummi gomme
buk buk bikk beech | Buche hétre
dub dab télgy oak Eiche chéne
smrek Swierk lucfenyd spruce Fichte | épicéa
sklo szkio iveg glass Glas verre
brus szlif szalcsiszolt brushed | geschiifen |  brossé
K320 K320 K320 K320 K320 K320
strieborny srebro ezist silver Silber argent
[ tikor 7 . -
E lesk polerowany polirozott polished poliert poli
ii : surovy SUrowy nyers raw roh brossé
=z |
=] natural nebriseny neszlifovany natar rough ungeschlifien non-brossé
IMNOX nerez nierdzewny rozsdamentes inox Edelstahl inox
ELOX eloxovany anodowany eloxalt elox Eloxiert anodisé
® potrebné niezbedne sziikséges necessary | Anpassungist | modification |
e Upravy przystosowanie | modositas modification notwendig nécessaire
3 nezmontované |  nieziozone e not unmentiert r
| notazzembles | | _dsszeszerelt  assembled | assemblé
~ priblizny przyblizone kozelits méretek. approximate Sdl:ﬁ‘;bnm;; dimensions
rozmer wymiary dimension ungefhr | approximatives
bestseller bestseller legjobban best seller Bestseller best-seller
eladott
novinka nowosc uj new MNeuheit nouveau
RAL color

PVD = (physical vapor deposition) coating

PVD-L = polished surface finish

Pa¥

I

i

AlSI304 AlSI316

X | X

INOX AISI 304

- vhodny deo prostredia bez chléru a oxidu siricitého

INOX AISI 316

- vhodny de prostredia s vysckym obsahom chiéru, oxidu siricitého,
vysokej vihkosti, do primorskych regiénov

INOX S.S. 2205- vhodny do prostredia s vysokym obsahom chléru,
oxidu siricitého, vysokej vinkosti s pritomnostou soli na pobrezi a na
volnom mori.

== INOX AISI 304

- suitable for the environment without chlerine and sulphur dioxide
load

INOX AISI 316

- suitable for the environment with a high content of chlorine, sulphur
dioxide load, high humidity, coastal regions

INOX 5.5. 2205

- Suitable for environments with a high content of chlorine, sulfur
dioxide, high humidity with salt on the coast and on the high seas.

INOX AISI 304

- przeznaczone dla Srodowiska bez dwutlenku siarki oraz chloru
INOX AISI 316

- przeznaczone dla $rodowiska o wysokie] zawartosci dwutlenku siarki
oraz chloru, wysokiej wilgotnosc oraz w regionach nadmorskie

INOX 5.5. 2205

- Madaje sie do srodowisk o wysokiej zawartosci chloru, dwutlenku
siarki, o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmor-
skich, lub w bezpodrednim kontakcie z woda morska.

INOX AISI 304

- alkalmazhato olyan kérnyezetben, ahol nincs klor és kén-dioxid
terhelés

INOX AISI 316

- alkalmazhato olyan kérnyezetben, ahol magas a kiér-, vagy kén-
dioxid terhelés, magas a paratartalom, tengerparti régickban

INOX 5.5. 2205

- Alkalmazhaté magas klor-, kén-dioxid-, sos nedvességtartalmu
kérnyezetben, valamint tengerparton és a nyilt tengeren”.

INOX AISI 304

- geeignet in Umgebung ohne Chlor und Schwefeldioxid

INOX AISI 316

- geeignat in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Kistenregi-
onen

INOX 5.5. 2205

- geeignet fiir Umgebungen mit hohern Gehalt an Chlor, Schwefeldi-
oxid und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher
Ses

INOX AISI 304

- Convenable pour les environnements sans chlore et/ ou bioxyde
de soufre

INOX AISI 316

- Col ble pour les envir nents avec un contenu élevé de
chlore et/ ou de bioxyde de soufre, une grande humidité, régions
maritimes

INOX 5.5. 2205

- Convenable au milieu avec un contenu élevé du dioxyde de soufre,
ainsi qu'au milieu humide contentant du sel, tel que le bord de mer ou
la mer ouverte.

e | G |

© prévo na technicke, tvarové a rozmerové zmeny

@ pre najnoviie informacie navitivte nédu webowd stranku w

QU_‘g STATIC STUDIO @

h / rights to

shape and di

changes reserved

loves f for latest information please visit our web site

Gamin |

comesion test report) INFRAPHOILKT 5.©

<< RISE



